\ 90 & {7] AR ik i =%

' A X =X 2
TAG S 15 ikt iRl
AEERBEEBEIELEH
G, AJcBEHETH B T XE P EMESHK
T 3. 886-2-22198586
4 BH. 886-2-22198587

Sl ERG (LB BRAE

it EETREERRILRATITREEIERE
E55. 021-69009655 / 62009656

HE. 021-69009657

Email: tgg@tgg6.com

https://taigiseiko.com

o 8 L //

AR ERMBEB(XB)FERAA
it XETEHEHFEEE _EAR118-135
% 5. 022-87809659 {HE. 020-87809695

Email: tgg@tqg6.com
https://taigiseiko.com

R ERB(RR)IFRAE
i REGREERE L1585
% 55. 0755-23344659 {#E. 0755-23342973

Email: tgg@tggb6.com
https://taigiseiko.com

FiE /AR BIZES A FOR STEPPER / SERVO MOTOR USE

TENNEER

PLANETAYY REDUCERS

ST AR /FEZEE TAIWAN TECHNOLOGY / PRECISION TRANSMISSION

TAG S5 it iR il



> 7 4l 5>

uonyanpoJjuj Auedwo?

HiygEg—eRtEetisEh TEMEERE, TRE{CNEHEREERENEE 25N EEaRn, &
ARSI TEIERR RS, EERETEMESNEINERE, SSATNMNESENTENBHRY, SEHFEIIRER
M ERHEANTEMERRIEER, REENRRMARFEREFESE (5-7arcmin ) , {{IEE (60dB) , BHE
( =95% ) AoFE, EEEEIEAROFLBREESETHENEREENSERE, TERERNEEERERRENF
ROtEME, IEEBIMEAGEEETREIEAVENRR, TLAGEBEZEATIERNEYY, RFHESEEEaRS R R R E R
{RABIRNSRS

TERESERIBRITUEERSIMESENEFNHMEERE, ERRIIEE, RYESENBRMERREER
£, BIMEOLUREIERORREESEIIRY, EREZERTEM (BEPMEEK) , RIS, RATREE, =
fARREEMEERE, WEMOMREDRIE, BEEhE, FAREER, BERERFaEEEERE!

TEvEAREEF, FEHRIEMEIRERERNRGENR, LEIIRBEMCHRRTRIEEATRESE, BPE
HRAMBBCRIEAR R T34 0B ERHER B ESR.

Taigi Electromechanical Equipment (Shanghai) Co., Ltd. (following called TQG reducer company ) is developed from a
professional gear manufacturing plant. The factory colleagues and technical team have more than 20 years of production experience
in gear design and manufacturing. In the later stage, the precision planetary gearbox division was established. Drawing on the
transmission principle of the German planetary gearbox and combining with the digestion and absorption of the company's internal
Taiwan technology, we have improved out a series of precision planetary gearboxes with full specifications for servo and stepper
motors. The servo gearbox products manufactured by TQG reducer company are with features of low backlash ( 5-7arcmin ), low
noise ( 60dB ) and high efficiency (=95% ). The input interface of TQG planetary gearbox can be matched with any brand of servo
motors and stepper motors on the market.

The TQG precision planetary gearbox has the functional characteristics of improving the inertia of the motor rotor, improving the
rigidity and shortening the start and stop positioning time, which can miniaturize the power of the motor, improve the stability of the
high inertia load and reduce the vibration during the operation of the machine.

The product specifications of TQG reducers can directly replace the equivalent sizes of standard planetary gearbox from
German and Japanese. The TQG reducer company has a complete product range, and the size and precision are exactly the same
as those of the Japanese and German precision speed reducers. Besides, our factory can also accept customization of non-standard
gearbox models and specifications. The TQG planetary gearboxes are widely used in tool machines (gantry machine tools), laser
cutting machines, woodworking engraving machines, full servo tissue machines, precision embossing printing machines, precision
coating machines, serve bending machines, CNC spring machine, and other highly automated equipment.

The TQG reducer factory malches a large number of stock and hopes to cooperate with domestic and overseas servo motor
manufacturers and system integrators to take root in the field of automation machinery industry and robot industry, and provide
high-quality automation products for China robot, automation machinery upgrading and industrial 4.0 goals.

+

g
)

o
q
o
o
=
()
.
(=]
-
==
<D
o
e
(%
D
-
==
D
q

>

S




Elﬁl = ﬁ Contents

PAGES

VRB

B AT R

High Precision Planetary Reducer series — 06-09

VRL

AT R R

High Precision Planetary Reducer i series

PAB

Bis B NETE RIS
High Precision High Torque Planetary Reducer \B series

PAR

HATBEEITERIER

Angle Type Precision Planetary Reducer : San e

PLF

EHERTE R

Standard planetary Reducer

PLE 1%

RIERT R

Standard planetary Reducer PLE series

PAD

I % B

High Precision Flange—output Reducer PAD series

PADR

LES R Yy L

Angle High Precision Flange-output Reducer PADR series

E m B ﬁ Contents

PAGES

PAF

TRHERIAT B R A

Standard planetary Reducer PAF series

VRS

B NAEBBBEITR R

High Torque High Precision Planetary Reducer ‘RS series

PFR

WABEITERER

Angle Precision Planetary Reducer Sl e e

PER

WABEITRRIERE

Angle Precision Planetary Reducer

VRSF

BETERIEM

Precision Planetary Reducer VRSF series

ZR

% HAIBE RS

Precision Right Angle Reducer 7R series

ZK

SR B

Hollow Shaft Rotating Platform ZK series

DG

T E R

Standard Planetary Reducer DE ceriles




L3 \ "
%7 RhEE | @RS HEEEM % WEsHE | DEEBE | Sl \W— ‘;F*%E JEH 2 % i%
Series Positioning Radial forces Torsional Backlash Wide range Power Wide range l o L: :&E’; ,?/ Reducer SeleCtlon Table
accuracy stiffness of size density of ratios
................................................................................... R e e e b s B S S s i BB P S S R B A e i e S P e e Vb ot S P e e 1 /ﬂ — x 2z \
B o 22 22 22 23 222323 332 MR 5 5 S (R (AR B HH Th
| S RO W | A WA | W | WA | WA WSEAE | WA Selection Table Of Reducer (By power of servo-motor)
j‘ N Y Ny N T N N N | TN NN | TN T _
‘ '5! PAE W W W W e M DM | W | c?pé!dty I\%ﬁz 13 | 1/4 | 1/5 | 1/7 | 110|112 | 1/15| 1/16 | 1/20 | 1/25 | 1/28 | 1/30 | 1/35 | 1/40 | 1/50 | 1/70 |1/100
ﬁ e | | o o o | o o o | o o | o o o | o o o Siing 042 | @ | @ | ® | @ |® |® @ |® o |0 |0 |e e e
ffffffffffffffffffffffffffffffffff PAR | | U0 |V I [P |V | S % | |e e e 5 3K o |
. e e N N e N e N e e N N 500w 060 ® @ [ ] @ ® @ @ ® ® ® [} ® @ [}
; PAR WF M A P Y aF o A o W o M o A
R I R Y 090 ] @ [ ] @ o ® @ @ @ [ ] ® ® @ @ ® [ ] [ ]
y e T e 1 . Tai NN | T % | TR TR | TR TR % TR
’ﬁ; VRB WM | MM MMM | MMM | MMM | M | 400w et ¢ %" | & " D eV Y| @
090 e | o |0 | 0|0 @ | @ |0 |0 |0 |0 | 0|0 |0 |0 | e
) S N e N e Be e TS T T WAL T To T To T WL T Ta
s VRL WEMEME | MR MEMEME | MR | MMM | o | M 500w 000 |@|@ |8 | &[0 AM\0 .0 & & o
""""""""""""""""""""""""""""" 120 o | o | o | o | |® | o |0 |e | o |e |0 || e e
ﬂ VRS Y Y | T | T N | S N | T S SN | e N | e
2 W At i I i M M Mg W I M Mg W i D 750w 090 L ] [ ] [ ] @ @ ® ® [ ] @ @ &
ﬁ Yy N N Y g N | N N N | N o N g gy g g | N e 120 e L @ ® ® ® [ @ @ o [ [ ] @ [ @ @ @®
__________________________________ PAD |9 | Wt | Gtd | Gbd | S | d | Wb w [e e e [e e
5 PFR e N e N N N e b e N N N 1.0kw 120 ® ® @ ® ® ® @
g . . | e e 4 o . 9 | ® e e e e
a PER Ml 2l ol W 0l M 2l M o W W o M 2l
LS, - i SR— TR | T VROV 1 .5kw 120 e o | o | o |0 |® | @ ™
@- PADR : _,: ;,:‘ :,,‘ : : : __,: :: _:‘ :‘ _:‘ ,:: :f ::‘ :_: 15 | @ | o | o o o |0 |e oo |0 |0
“,.A...A:.,“,“,..“,.“, e N —— e —— e [ S ————— P 2.0kW 120 . . . . . . .
oy, . . Y o | | o o o | o oy
PLF e M e e M e M e 2 D S S 5 Ok 150 ® L ] [ ] @ ® @ ®
: bLE e T S B B B I T T P O B e e - = o |
B D i L W I U L 3.5kw 120 @ Pl ® @ @ ® @
. ﬁ‘ RS prgrge . pegony gy -~ . .y 150 e o (o | o (o (o e (& (o | o o e o
P U |weweaer | WA LD wilingill T wilk=dd 7. 9 - - o) il 3.5kw 180 || ® | o | o |o o |e
7R N o T TR, T To WS, To T . To T o . 220 e (o o | o o | (o ®
..................................................................................................................................................................................................................................................... 5.0kw 120 ® @ (] ® @ ® ®
‘ﬁ? ZK ;::ﬁ: -::: -::: j::: &::: :: :ﬂ::} 150 | @ | ® | o | e |@® e |0 |0 |0 |e]|e
5.0kw 180 e | o | o | o | o |o | o | @
4 g N gy Y
y- off ofF off off ofF 220 e | e | o | o |0 |® e | o | @ e |o | o
ke # 5 180 | @ | ® | o || | |e |0 |e
Standard Strong Highest 7.0kw
220 e | © | | o |® | | o |0 | o o | | |0 |0 |0 e
];J gg%é& 4Gl 180 e | o | o |0 |0
220 e | o | |0 | @ e (o (@ | @
Performance classes
15.0kw 220 e ® @ @ ®

TRIE B E 5

Achieve your goal
faster:

~01=

e A

P.S: Ilt" @ "RLSR R AT A Z B LL
L ZREELAELRT, ERRAIFENHEAR,
F2 EMERXMIESRERERETEA—RER,

BSEABRERRABMNABYAEHTARERTRER  AFEEARALF B TARANRER
BFRERBRIEDEFTEN m. LB AT LR B M EEMAER

P.S : This mark"e"means available reduction ratio.

Note 1: Three-stage speed reduction ratios are not available in
the above stable. If needed, pls inform our sales person.

Note 2: Choose a bigger level of reducer to use when the inertia
is bigger.

Our programme at a glance.

You no longer need to perform time-consuming searches of detailed information: Utilise our
easy-to-use quick selection to select the products you need. In this overview you will find a direct

comparison of the key features of our products.
-02-



EmPAT Product Technology

EEmmEM{TE Product Application Industry

FEEHRHERE. BEA BREEEREEHEHMAIEEESIEZER
TQQRIITEB S e HEE R =z B84 Two multinational patents has been obtained on the lubrication structure Semiconductor liquid crystal manufacturing equipment, robots, machine tools, and other frontiers of precision motion control are widely used.
%, ERENBEERSE, RRESNEGH, of TQG series planetary reducers to ensure the highest output value.
BRI BRITEGRESFREENSEES, Patent 1: To reduce axial thrust bearing from the running of gears.

Bl 2: WmER, MRREEENERE,

e AROFTEE ( S IRF/ s ) e PREREPT AR A K SRR A Ar [ElEEE A

The walking shaft of a robot (rack and pinion) Gantry robot of machine tool Horizontal multi-joint robot Wafer handling robot

iy A
o &

FHREERE

Patent 2:To reduce frictional resistance and noise leve

o

FHIEE RN

-

Tl FRANSYSHIM H R 18 &1 TH R IT47,
EIRFHETFERRELREREE, LUARERME
EHEEMEE, ENERRNEREG.

Finite element analysis of gear strength is carried out by using
ANSYS technology. Tooth profile and lead trimming of tooth

EHTERAGESEN, ER-RL2E
18, e e B g
Carbon-nitriding heat-treated high quality alloy steel is
adopted in gear materials to obtain the best wear
resistance and impact toughness.

R (H4E )

Stamping equipment (riveting)

s
Pipe bending machine

E 5 P B EY AR A

Injection mold taken—out robot

R B T 2R
Rotary tower knife frame rotation of machine tool

FHESERIEN

-03-

surface are also made to reduce the impact and noise of gear FHERERMLEA
meshing, and increase the service life of gear system. ——

PABZ 51| 5 _

Take the PAE‘B series — L, =

as an example @ i) o)

? = ’3‘._(
-
FHIE SRR

WHTRRR AR (83048 ) iEEaRsEt,
RIESRKEBIES T THEERN, BARER—E
AR, RRESRAEAIEISE.

The output planet carrier adopts integral (double support)
structure design. The large span of the front and rear bearings
is distributed inside the box body, forming a stable integrated
structure to ensure high torsion rigidity and accuracy.

i FSRERE]

Roller drive for daubing use

SR RS

Pulley for loader use

_ ERSER
jFHﬁE‘-‘ﬁiﬁiﬂ
o B 2 Y PR B R A —RE ARG, RAEHES —

B, EREBATE, EMESEENTREE,
— B R E R RER A MR~ — AN I ) _
B, EEfRnS. REXSEELEEES W NEhERSE B B R A — L RLRD, SRRHEN T,
s EE TSR R, ER R TERER, EIRERERE N, BEH
An integrated design of the tooth ring and the output shell is ILEREEHITRE, BRSBETEENENEE,
adopted, and high quality steel is used to get high material The input shaft and locking device are designed in an integrated way.
density by hot forging. The integrated design can ensure that The two bolts are symmetrically distributed to achieve dynamic balance.
all geometric dimensions are finished in one time and have At the same time, through the strong locking of double bolts, the motor
higher precision and strength compared with other embedded shaft transmission is effectively prevented from slipping and the
and clamped structures. high-precision zero backlash power transmission is achieved.

BN B R AR E) RIS AR AE R R A i St B
Shaft input belt drive Liquid crystal glass substrate handling robot Tensile testing machine

FHIE S,

H

—04-



EAMES BEILERRSEA
Unmanned vehicle Raobot for working in height

FHISER iR

RS $ H

e HRix mE (Er) =6
Rotate Transport Angle (positioning) control

FHigERIEY, — ()

MhES] ( XY TIESE )

Two axis control (XY workbench)

HER B (%) EP RIS

Pipe bending machine Punching (riveting) Printed circuit board inspection device

FHIEE RN, é

3

FHISEHE @

—05-

PRECISION PLANETARY REDUCERS
e 2 13 B SRl iR iR
1565

V R B 16 I R T 05 22 R
2 EEE

HRIE T35, ENHEHE,
3. G, EHAE
& REMEURERIR, AXRE THIMEMEAE,

45/, BT
ARERMR HET—2RE L,

5 ARG T
ERRWNE. TEOB0EEE, FubEEEEtRE.
6.AEETTE

EEREGHNETERNRE, REEER,

1.Quiet operation
Helical gears contribute to reduce vibration and noise.
2.High precision
Standard backlash is 3 arc—min, ideal for precision
control.

3.High rigidity & torque
High rigidity & high torque were achived by uncaged
needle roller bearings.

4. Adapter-bushing connection
Can be attached to any motor all over the world.

5.No grease leakage
Perfect solution using high viscosity anti-separation

grease.

6.Maintenance—iree
No need to replace the grease for the life of the unit.
Can be attached in any position.

R 12 2 /Indication of Model Numbers
VRB %7%I/VRB Type

g ﬁﬁ?ﬁ%ﬁ e gmig
IR R/ Type Output Shaft Keyway FRiEREE/Motor Type
VRB042, VRB060, VRB090, VRB115 o B BIEE R AR

Motor Manufacturer & Model

S
S3: iﬁéﬂgﬁ &
Output for holes

' (]
| e o e
| VRB142, VRB180, VRB220 {ESei CRIBTEnE) Bl sy

| RiE L Ratio % B4 Backlash Class
\ Eiff /1-stage: 3, 4, 5, 6, 7, 8, 9, 10 i PO: Bi5% M/ Micro Backlash PO i
i 8/ 2-stage: 15, 20, 25, 30, 35, 40, 45, : P1: #5%#/Precision Backlash P1 :
' 50, 60, 70, 80, 90, 100 " P2. {ZH#¥[E/Standard Backlash P2 ;

RIsEEEE . VRB090-100-S2-P1/Panasonic MSMJ 082S1A
Model Example: VRB090-100-S2-P1/Panasonic MSMJ 082S1A

—-06—




VRB iR sE &+ Specification Table

Meodel No Unit Stage

M F15EToN
Rated Output Torque

B KHIH 56 Tanor'/ Max.Output Torque
A2 NN v/Rated Input Speed
£ k¥ AN s/Max.Input Speed

B MP0 / Micro Backlash PO

B HRP1 / Precision Backlash P1

HE R Torsional Rigidity

B %[ H1F26 | Max.Radial Force
FEF# [ S1Fea1e” / Max.Axial Force
BHFHIE 1F2a6” | Max.Axial Force
{EFMH e / Service Life

& n /Efficiency
E&/Weight

{& FiiR [ / Operating Temperature
iHif/Lubrication

BIFEZ 4R / Protection Class
FE75(H / Mounting Position

M & {E(n1=3000mm, ) Noise Level

3 130 1140
4 19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000
1 6 20 55 150 310 600 1100 1900
7 19 50 140 300 550 1100 1800
8 A7 45 120 260 500 1000 1600
9 14 40 100 230 450 900 1500
10 14 40 100 230 450 900 1500
15 20 55 130 208 342 588 1140
Nm 20 19 50 140 290 542 1050 1700
25 22 80 160 330 650 1200 2000
30 20 55 150 310 600 1100 1900
35 19 50 140 300 550 1100 1800
40 17 45 120 260 500 1000 1600
2 45 14 40 100 230 450 900 1500
50 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
80 17 45 120 260 500 1000 1600
90 14 40 100 230 450 900 1500
100 14 40 100 230 450 900 1500
Nm 1,2 3~100 SfEEEE Hi 1 $155/3Times of Nominal Qutput Torque
rpm 1,2 3~100 5000 5000 4000 4000 3000 3000 2000
rpm 1,2 3-100 10000 10000 8000 8000 6000 6000 4000
_ 1 3~10 <2 <2 <2 <2 <2 <2 <2
il 2 12~100 =4 =4 =4 =4 <4 <4 <4
. 1 3-10 <4 <4 =<4 <4 =4 =<4 <4
SR 2 12~100 =6 =6 =6 =6 =<6 =6 =6
Nm/arcmin 1,2 3-100 3 7 14 25 50 145 225
N 1,2 3~100 780 1530 3250 6700 9400 14500 50000
N 1,2 3~100 350 630 1300 3000 4000 6200 35000
N 1,2 3-100 390 765 1625 3350 4700 7250 25000
hr 1,2 3~100 20000h
1 3-10 =97%
% 2 16~100 ~04%
kg 1 3-10 0.5 1.3 3.3 78 15 28 52
2 15~100 0.8 1.48 3.9 9.6 18.9 33 66
T 1,2 3-100 (-15C ~ +90C)
1,2 3~100 484 Rl a5 S (Synthetic Grease)
1,2 3-100 IP65
1,2 3~100 {E&E A 6 (Any Direction)
dB(A) 1,2 3-100 <56 <58 <60 <63 <65 <67 <70

BUE K E )8 2/Moment of Inertia/

psricd B
Model No Unit

i R VRB042 VRBO60 VRB0SO VRB115 VRB142 VRB180 VRB220
Stage Hatuo

MODEL: VRB

EE 1-Stage
#®tk: 3, 4, 5, 6, 7, 8, 9, 10

M2 R =<t Bl Dimensions:

0.03 0.16 0.61 3.25 9.21 28.98 69.61
4 0.03 0.14 0.48 2,74 7.54 23,67 54.37
5 0.03 0.13 0.47 2.71 7.42 23,29 53.27
6 0.03 0.13 0.45 2.65 7.25 22,75 51.72
ey N 5 1 7 0.03 013 0.45 2.62 7.14 2248 50.97
Ko 8 0.03 0.13 0.44 2.58 7.07 22,59 50.84
Moment of Inert § 9 0.03 013 0.44 257 7.04 22,53 50.63
10 0.03 0.13 0.44 257 7.03 22 51 50.56
” 12-40 0.03 0.03 013 0.47 271 7.42 23.29
50-100 0.03 0.03 0.13 0.44 257 7.03 22 51
1. FEEEL(i=Nin/Nout) 2. BitHEIS100rpmBs, fEEREHEIROEE,. 3. BAMEAHET2B=60%o0f TONOT, B EiE A6 S10000hrs,

1. Ratio (i=Nin/Nout)

2.When output speed is 100rpm, acting on the output shaft center position.

3. The Max. acceleration torque T2B=60% of T2NOT, continuous operation, service life is 10000hrs.

=0N7=

g N\ Input ¥ 5
C2
L1 L3
51 s
8| | i i
L2
Brg — _':;;
D9 "’r D9 Py
K g % —_—'%—gl
a5 |0 At 2 DQ s 83 g
Unit:mm

$13 416 $22 $32 $40 $55 $75
_ $35 $ 50 ¢80 $110 $130 $ 160 $ 180
IEE o8 ( $6.35-11) ¢14 ($11-19) ¢19( ¢16-24) ¢22( ¢19-35) 24 ( $22-35) $35 ( $35-42) $42 ( $35-55)
I 930 ( $30-50) 50 ( $50-¢70) $70 ( $70-6110) ¢110( ¢1143) 110 ( $114.3) ¢1143 ( $114.3-200) ¢ 180 ( ¢ 114.3-200)
$50 $70 $ 100 $130 165 $215 4250
| D6 EEEEE¥ 4-$55 4-47 4-49 4- ¢ 11 4-$13 4-$17
I 646 ( $45-70) $70 ( $70-690) ¢90 ( $90-145) ¢ 145 ( ¢ 145-200) ¢ 145 ( ¢ 145-200) 200 ( $200-235) $215 ( $200-235 )
EE 4-M4(M3-M5)  4-M5 ( M4-MB)  4-M6 (M5-M8)  4-M8 (M8-M12) 4-M8 ( M8-M12) 4-M12 4-M12
B v4xoP M5X0.8P MBX1.25P M12X1.75P M16X2P M20X2.5P M20X2.5P
$ 42 $ 60 $87 $114.5 142 $ 180 $218
$ 46 $ 65 $90 $ 118 $ 150 $ 184 $2255
19.5 285 36.5 51 79 82 105
55 7 10 12 15 20 30
4 6 8 10 12 15 20
26 a7 48 65 97 105 138
5 5 7(7-8) 6(6-11) 8(8-11) 7 (7-10) 8 (8-15)
275 (=32) 34 (<44) 44 (<60) 64.5 ( <81.5) 72,5 ( <82) 85 ( <120) 109 ( =119)
_ 655 (655-70) 78 (78-88) 98 (98-114) 135 (135-153) 1545 (154.5-164) 179 (179-214) 220 ( 220-230)
915(915-96) 115(115-125) 146 (146-162) 201 (201-218) 251.5(251.5-261) 284 (284-319) 358 ( 358-368 )
42 60 90 115 142 180 220
46(46-60 ) 65(65-80) 90 (90-130) 130 (130-180) 130 ( 130-180) 180 ( 180-220) 200 ( 200-220 )
3 3 4 5 5 6 7
14 22 28 40 65 70 20
15 18 24.5 35 43 59 79.5
B 5 3 6 10 12 16 20
3 4 6 8 10 14 18
$8 $ 11 pe2 $28 $38 $50 $ 60
9.4 12.8 24.5 31.3 41.3 53.8 64.4
$13 $16 $ 32 $38 $48 ¢ 60 $72
15 15 20 27 35 43 60
18 18 24 82 40 50 65
Fe () IBFHABTRESERS, () B9 EEERST.,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

2 HEE AT R R PE SR,

3 N RSTRIR & SR IR SIE S i R A E A E,

or stepper motors sizes.

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors

-08-



MODEL: VRB PRECISION PLANETARY REDUCERS

M2 R~F[E Dimensions:
B \Im Input

o
O

Bhe
T
D9 i D9
4%57 w' Ql
s 51 Do AR s2 | Dme | AR, 53

I
e =
Unit:mm

$13 $16 $22 $32 $40 $55 $75
ez $35 $50 $80 $110 ¢ 130 $ 160 $180
$8( $6.35-8) 14 ( $11-14) $19 ( $11-19) $22 ( $16-24) $24 ( $19-35) $35 ( $22-35) $42 ( $35-42)
$30 ( $30-38.1) $50 70 ( $50-480) o110 ( $70-110) ¢ 110 ( $1143)  $1143 ( $110-1143)  $180 ( ¢ 114.3-200)
(05 $ 50 $70 $100 $130 $ 165 $215 $ 250
| D6 | 4-$34 4-$55 4-47 4-49 4-¢ 11 4-413 417
$46 ( $45-66.67 ) $70 $90 ( $70-100) 145 ( $90-145) ¢145( $145-200)  $200 ( $145-200) $215 ( $200-235)
BEE  4viav3) 4-M5 ( M4) 4-M6 ( M4-M6 ) 4-M8 (M5-MB)  4-M8 ( M8-M12) 4-M12 ( MB-M12) 4-M12
| D9 | M4X0.7P M5X0.8P MBX1.25P M12X1.75P M16X2P M20X2.5P M20X2.5P
$42 $ 60 $87 $1145 ¢ 142 $180 $218
$46 $65 $90 $118 $ 150 4184 $2255
195 285 365 51 79 82 105
55 7 10 12 15 20 30
4 6 8 10 12 15 20
26 37 48 65 5 105 138
5 5 5 8(7-8) 11 (6-11) 8 (8-11) 8(7-10)
275 34 34 (=44) 44 (=e0) 645 ( <815) 725 (<8 85 ( <120)
86 105 1245 (1145-1245) 1655 (1495-1655) 206 ( 189-206 ) 235 (2255-235) 269 ( 264-299 )
112 142 1725 (1625-172.5) 2305 (2145-2305) 303 (286-303 ) 340 ( 3305-340) 407 (402-437 )
42 60 90 115 142 180 220
46 (46-57 ) 65 65 (65-86 ) 90 (90-130) 130 (130180 ) 150 ( 150-180 ) 200 (180-220)
3 3 4 5 5 6 7
14 22 28 40 65 70 90
15 18 245 35 43 59 795
| B | 5 5 6 10 12 16 20
3 4 6 8 10 14 18
$8 $11 $22 $28 $38 $50 $60
94 128 245 313 4.3 538 64.4
$13 $16 $32 $38 $48 $ 60 $72
15 15 20 27 35 43 60
18 18 24 32 40 50 65

L8

L4 L7

L1 L3

@D2n7

8182

_JI__]':_:[_}_. | L=

D10
|
D11

g5

L2

L6

g ety .
#8 2-Stage i 20 17 2 Sl iR i
#Ek. 15, 20, 25, 30, 35, 40, 45, 50, 60, 70 1 B
80, 90, 100 B
2 EEE

BEREET3S. B,
3. G, FHE
fE EMEURERMK, KKRS THIEHE,

4250, BRI
ANREFHR FEA—SRE L,

2 5 EHEAEH I

iﬂ ERASHE. TE5o50ERBE, FakEREE R,
E 6. #EETTE

. EERSGHRNESTERNBIE, REBEE,

1.Quiet operation
Helical gears contribute to reduce vibration and noise.

2.High precision
Standard backlash is 3 arc—min, ideal for precision
control.

3.High rigidity & torque
High rigidity & high torque were achived by uncaged
needle roller bearings.

4.Adapter-bushing connection
Can be attached to any motor all over the world.

5.No grease leakage
Perfect solution using high viscosity anti-separation
grease.

6.Maintenance—free
No need to replace the grease for the life of the unit.
Can be attached in any position.

R A1 B /Indication of Model Numbers

VRL Z%3%l/VRL Series

IR R/ Type

' VRLO50, VRLO70, VRLO090, VRL120, ! !
| VRL155, VRL205, VRL235 '

______________________________________

7, bk /Ratio
ESffi / 1-stage: 3, 4, 5, 6, 7, 8, 9,

& Hi / 2—stage: 15, 20, 25, 30, 35, 40, 45,

H AT Eh e

o 7 2
Output Shaft Keyway FiEEI5R/Motor Type
S1: W|WhEl, S

S2: ZER, HigE Motor Manufacturer & Model

| B SR B
Standard (Keywa i
=Rl :

(Solid Output Shaft No Keyway) | 3

Output for holes

_________________________________________________

15 B % 48 Backlash Class
10
P1: #% % 8i/Precision Backlash P1

E () BRI ETEREERRST, () ERINREERY,
E2: EUEEH AR RS FESIKNHRE.
3 BN R MR & R AR R E S 1 RE R AF P E

-09-

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.

Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

50, 60, 70, 80, 90, 100

RS : VRLO90-100-S2-P1/Panasonic MSMJ 082S1A
Model Example: VRL090-100-S2-P1/Panasonic MSMJ 082S1A

P2, iZiHi5/Standard Backlash P2

i PO: Et&E%iBa/Micro Backlash PO E



VRL BuE# e E R} Pecification Table

g B B3 L
MatlNo Onit Stage Ratio, | VRLO50 | VRLO70 [VRLOSO | VRL120 | VRL156 | VRL205 | VRL235 .
3 1140 ]
4 19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000 BER 1 —Stage
1 6 20 55 150 310 600 1100 1900
b
7 19 50 140 300 550 1100 1800 &EEk: 3, 4, 5, 6, 7, 8, 9, 10
8 17 45 120 260 500 1000 1600
9 14 40 100 230 450 900 1500
10 14 40 100 230 450 900 1500 \ {, = DImenSIOnS'
15 20 55 130 208 342 588 1140 fJI i R _j_ . 4
BN S8 T 20 19 50 140 290 542 1050 1700 L6
Nm 2l
il 25 22 60 160 330 650 1200 2000 &1 tH 9w Output -8
30 20 55 150 310 600 1100 1900 U 12
35 19 50 140 300 550 1100 1800 -
o
40 17 45 120 260 500 1000 1600 = ]
D 45 14 40 100 230 450 900 1500 aPl 192
50 22 60 160 330 650 1200 2000 . O
60 20 55 150 310 600 1100 1900 8 #EP— — &8
70 19 50 140 300 550 1100 1800 i
80 i 45 120 260 500 1000 1600
90 14 40 100 230 450 900 1500 ==
100 14 40 100 230 450 900 1500 L5 |
ke 148 Tonor!/ Max.Output Torque Nm 1,2 3~100 3fEEEE I H F146/3Times of Nominal Output Torque "
i 4 A\ BN v/Rated Input Speed pm .2 3-100 5000 5000 4000 4000 3000 3000 2000 B&_‘ - "
£85I ABEN @/Max Input Speed rpm 1,2 3-100 10000 10000 8000 8000 6000 6000 4000 N, 0o y D9
1 3-10 = = < < = < < o ak 7
BT BP0 / Micro Backlash PO arcmin 5 15160 <j <i <i <j <j <i <j H e — —-%/—§
~ < =< < < = < <
WA 51 | 2Dl B 52 2D1ns AR 53 7
MEEBIP1 | Precision Backlash P1 AFSrin 1 3-10 =4 =4 =4 =4 <4 =4 <4 = e |
2 15~100 <6 <6 <6 <6 <6 <6 <6 Unit:mm
o : h
A oc ol Ry hiErchl SNEE Bl S 4 H &8 30 14 4 VRLO70-L1 VRLO90-L1 VRL120-L1 VRL155-L1 VRL205-L1 VRL235-L1
BEHEHE Fze / Max. Radial Force N 1.2 3-100 680 1260 2880 6000 8200 12800 27800 e e e
” ‘
S 7126 / Max. Axial Force N 1,2 3~100 330 625 1250 2400 3890 6100 15000 452 ¢ 68 ¢90 ¢ 120 160 $180
7S5 F2a16° / Max.Axial Force N 1,2 3~100 370 760 1580 3360 4660 7250 18500 614 ( $11-14) 19 ( $16-24) 622 ( $19-35) b24 ( $22-35) 635 ( $p35-p42) 642 ( $35-55)
R / Service Life hr 1.2 3~100 20000h $50 ( $50-70)  $70 ($70-110)  $110( $1143) 110 ( $1143) $1143( $1143-200) ¢ 180 ( $114.3-200)
1 3~10 =97% 4-M5X10L 4-MBX12L 4-M8X16L 4-M10X20L 4-M2X22L 4-M16X28L
%3 1 [Efficiency %
2 15-~100 =94% | D6 | $62 $80 $108 ¢ 140 $184 4210
1 310 05 12 35 78 145 30 50 $70 ( $70-90) $90 ( $90-145) 145 ( $145-200) $145 ( $145-200) $200 ( $200-235)  $215 ( $200~235)
Raon ‘ o | - W (M5-8) 4 -
el g 5 =S < o = T = & 4-M5 ( M4-Mé6 ) 4-M6 ( M5-M8 ) 4-M8 (M&-Mi12)  4-Ms (M8-Mi2) 4-M12 4-M12
- . 1% =T (15 - +90C) [ pbs | M5X0.8P MBX1.25P M12X1.75P M16X2P M20X2.5P M20X2.5P
{ fi1i8 & / Operating Temperature T , ~ ‘ 285 365 51 79 a0 105
iR /Lubrication 1,2 3-100 =&AL BE(Synthetic Grease) 5 6 9 12 15 18
BisE% 4R / Protection Class 1,2 3~100 IP65 35 44 62 04 100 126
2285755 / Mounting Position 1,2 3~100 fEE 7 [E (Any Direction) 5 7~8 6~11 8~11 7~10 8~15
#{H(n1=3000mpm, #&EE)Y NoiseLevel  dB(A) 1,2 3-100 <56 <58 <60 <63 <65 <67 <70 34 (=44) 44 (<60) 645 ( <815) 725 (<82) 85 (<120) 109 ( <119)
115 (115-125) 146 (146-162 ) 201 (201-218) 2515 (251.5-261) 284 (284-319) 358 ( 358-368 )
c1 65 (65-80 ) 90 (90-130) 130 ( 130-180) 150 ( 150-180 ) 180 ( 180-220 ) 200 (200-220 )
b ks jE = . | C1 ]
J@Eu%&ﬁ@] /Moment of Inertia/ 3 4 5 5 6 7
2 28 a 6 7 %
0.03 0.16 0.61 3.25 9.21 28.98 69.61 | B 5 2 i L 1 20
4 0.03 0.14 0.48 274 7.54 23.67 54.37 4 6 8 10 14 18
5 0.03 013 0.47 2.71 7.42 23.29 53.27 ¢ 11 ¢22 $28 $38 $50 $ 60
WiEE 6 0.03 0.13 0.45 265 7.25 2275 51.72 E 128 245 31.3 M3 53.8 64.4
:  kg.cm? 7 0.03 0.13 0.45 262 7.14 22.48 50.97 $16 $32 $38 $48 $60 $72
Moment of Inertia 8 0.03 0.13 0.44 2,58 7.07 2259 50.84 15 20 27 35 43 60
9 0.03 0.13 0.44 2.57 7.04 22.53 50.63 18 24 30 40 50 65
10 0.03 0.13 0.44 257 7.03 22,51 50.56
2 12-40 0.03 0.03 0.13 0.47 2.71 7.42 23.29 : : - s . . . . . ) _
4. B R~ T, ; i -
e = —— o o HET e — F1: () FRABTREEERT, () ESRINBIEERS Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes

E2: BIEEE AMET LR E R ESIRNIRE,
HES: BNRSHRR & @R ERRE S S R w IR A

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

—h

EUGEEE(i=Nin/Nout) 2. & HEEE 00rpmBE, {EAREHEROE, 3. BANEHET2B=60%0f T2NOT, EAFEE{#E FE=E4510000hrs,

. Ratio (i=Nin/Nout) 2. When output speed is 100rpm, acting on the output shaft center position.
3. The Max. acceleration torque T2B=60% of T2NOT, continuous operation, service life is 10000hrs.

-

—11- A2



MODEL: VRL PRECISION PLANETARY REDUCERS

L
SEas e 28 17 2 SRl iR Mk
k. 15, 20, 25, 30, 35, 40, 45, 50, 60, 70
80, 90, 100
" : ; -
4p2 R~T B Dimensions: o 17 R IR i W — R TR B AT A
HERIEEE
L6 — Integrated design of planet carrier and output
m ﬂ E#JE Output L3 ‘ shaft ensures the maximun torque stiffness and
ok stability
L1
=19 : e AR AT AESHBEE, EHIXER
b1 s2 q ] [ IBIERIE, RERENTZEMREMES.
\ m Ol Electroless Nlickel deposition treatment and
S Kt N __‘3_ j I 'g,Z,I B black anodizing treatment are employed to
Q e 1 1 ar o
F e gear box surface and motar adapter module
B respectively.the tolerance to the environment
=N | and resistant to corrosion are enhanced.
L5
® KA EIFERE B low backlash
B _ K8 ® 53 (95%)high efficiency (95%)
D9 L D9 © O R 4MiE life time lubrication
o 7
0| ——
L Q| —bes __%/_;:r
AR, S1 (@01 gzt g2 |@D1ne HHAISE $3 Y rsr
Unit:mm
I e e e e
- op | $16 55 075 e v : -
= I
052 s o0 i 160 100 AR FYIZE EY/Indication of Model Numbers
¢14 ( ¢11-14) $19 ( $11-19) 922 ( $16-24) $24 ( $19-35) $35( $22-35) $42 ( $35-42)
| D4 ] $50 $70 ( $50-$80) $110( $70-4110) ¢110( $114.3) $110 ( $1143)  $180 ( ¢ 114.3-200)
4-M5X10L 4-MeX12L 4-MBX16L 4-M10X20L 4-Mi2x22L 4-M16X28L P AB % §|J / P AB Type
| D | $ 62 ¢80 $108 140 $184 $210
$70 90 ( $70-100) ¢ 145 ( $90-145) ¢ 145( $145-200) ¢145 ( $145-200) $215 ( $200-235)
B VS (M4) 4-M6 ( M4-M6 ) 4-M8 (M5-M8)  4-M8 (M8-M12)  4-M8 (M8-M12) 4-M12 §
| D | M5X0.8P M8X1.25P M12X1.75P M16X2P M20X2.5P M20X2.5P PAB 090 = = “ / iz
285 365 51 79 82 105 S— w o |
5 6 0 12 15 18 e i S e AR RS P —
35 “ 2 o4 100 126 L i S n |
5 5 8(7-8) 11(6-11) 8(8-11) 8 (7-10) | BUE# AT Type |1 ! Output Shaft Keyway | | | F5iZA5R/Motor Type |
! 34 (<44) 44 ( <60) 645 ( <815) 725 ( <82) 85 (<120) 1 Pl S1: B, EgE b s g :
142 1725 (162.5-1725) 2305 (214.5-2305) 286 (286-303 ) 340 ( 330.5-340) 407 (402-437) 1 PABO42, PABO60, PAB090, PAB115 ! . ' (Solid Output Shaft No Keyway) | | ! B R R AR :
65 80 (65-86) 130 (90-130) 130 ( 130-180) 150 ( 150-180 ) 200 ( 180-220) || PB4, FABIE0, PABSEC ©a So. fmHS, AEE w0
3 4 5 5 6 7 : i Standard gj g)/way) b :
2 2 % & 70 % 1 R | |
18 245 3 43 59 795 | & -________9‘5‘}3‘!*_‘_"_'_*_‘?'_‘%5_________: I
I — 5 6 10 12 16 20 : :
4 6 8 10 14 18 seescEsEanEaEs S\ ¥ 4 il jsfmesnmssnnos | pRSTesascsonsansssscsassoscTosasRanosnZaascEozsSARzas
911 922 $28 $38 $50 $60 | BLEEE Ratio P % 4 Backlash Class !
128 245 313 413 538 64.4 | mg Lo !
16 532 38 48 60 072 . B/ 1-stage: 3, 4, 5, 6, 7, 8, 9, 10 L PO: B¥Emi5 B4/ Micro Backlash PO :
15 20 27 35 43 60 . 8&Hi/2-stage: 12, 15, 16, 20, 25, 28, 30, 35, | | P1: %75 M/Precision Backlash P1 ;
18 24 32 40 50 65 ; 40, 50, 70, 80, 100 L P2: iZi#{[/Standard Backlash P2 5
1 () F\EABAEEEERS, () B9NESEERS,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. T IIIITEIIIINIIIIER. TR ERIRIIR BRI IEIII ===
2. EEEEH AT BT PER AN IRE, Note 2: The reducer output shaft size and length can be customized for customers. BISEE[E . PAB090-100-S2-P1/Panasonic MSMJ 082S1A
3 MARHMRIESREARSZESSERETLIBRESE), Note 3: Input sizes can be subject to changed according to the brand servo motors Model Example: PAB090-100-S2-P1/Panasonic MSMJ 082S1A

or stepper motors sizes.
13- 14—



PAB BiE#EREE R Specification Table
I - S

BERWH 1 Ton

Nm
Rated Output Torque
A H# 8 Tanor /Max.Output Tarque Nm
S A %N w/Rated Input Speed rpm
B A A #EN8/Max.Input Speed rpm
=& BRPO/Micro Backlash PO arcmin
FE & BP1/Precision Backlash P1 arcmin
fE#5 BP2/Standard Backlash P2 arcmin
1514 Torsional Rigidity Nm/arcmin
BB 1 F2s’/Max.Radial Force N
FHF#I5 J1F2a18°/Max. Axial Force N
& AZ d/Service Life hr
B n /Efficiency %
HE/Weight kg
{# AR B /Operating Temperature i o
#Hi3/Lubrication
Bis# %4 /Protection Class
%2475 [/Mounting Position
I & {ii(n1=3000rpm, R #)/ Noise Level dB(A)

IR E )

HEEEN

Moment of Inertia

kg.cmz

PAB042 | PABO60 | PABO20 PAB180 | PAB220

3 1020 1550
4 20 55 160 330 580 1280 2160
5 21 58 159 330 580 1250 2100

1 6 16 48 120 240 410 980 1350
i 19 50 148 300 530 1030 1580
8 13 45 130 230 450 880 1260
9 12 40 100 220 410 880 1450
10 15 46 125 260 475 950 1530
12 18 52 155 300 530 1100 1750
15 18 53 150 280 550 1050 1650
16 20 53 158 320 580 1200 2050
20 20 52 155 320 580 1200 2050
25 19 52 158 320 580 1200 2000
28 19 50 150 300 550 1100 1850

2 30 18 49 145 390 500 1050 1600
35 17 48 155 290 500 1020 1500
40 18 48 150 290 530 1100 1350
50 18 50 145 290 530 1000 1300
70 16 50 140 280 490 1000 1200
80 10 43 110 230 410 960 980
100 10 43 120 260 450 950 1100

1,2 3~100 3{EFEE H 5145/3Times of Nominal Output Torque

1,2 3~100 4000 4000 4000 3500 3000 2000 2000

1,2 3-100 6000 6000 6000 5500 4500 4500 4000

1 3~10 — — =1 <1 =1 =1 =1

2 12~100 — — — =3 =3 =3 =3

1 3~10 =3 =3 =3 =3 =3 =3 =3

2 12~100 =5 <5 <5 =5 =5 =5 <5

1 3-10 <7 <7 =7 =7 =7 <7 <7

2 12~100 =9 <9 =9 =9 =9 =9 <9

1,2 3~100 3 7 12 28 50 140 210

1,2 3~100 780 1300 3200 6750 9400 14500 50000

1,2 3-100 330 700 1580 3300 4700 7200 28000

1,2 3-100 21000h

1 3-10 =97%

2 12~100 =094%

1 3~10 05 1 3% 7.8 15 29 52

2 12~100 0.8 1.48 44 9.6 18.9 33 66

12 3~100 (=15T ~+907TC)

1.2 3-100 & M RhAE (Synthetic Grease)

110! 3-100 IP65

12 3-100 fE & /18 (Any Direction)

1,2 3-100 =63 <63 <63 <65 <65 =70 <70

=/Moment of Inertia/

it B B i
Unit St Rauo PAB042 | PAB0O60 | PAB090 | PAB115 | PAB142 | PAB180 | PAB220

69.61

0 03 0 14 0 48 2 74 7 54 23 67 54.37

5 0.03 0.13 0.47 2.71 7.42 23.29 53.27

1 6 0.03 0.13 0.45 2.65 7.25 22.75 L] L2
7 0.03 0.13 0.45 2.62 7.14 22.48 50.97

8 0.03 0.13 0.44 2.58 7.07 22.59 50.84

9 0.03 0.13 0.44 2.57 7.04 22.53 50.63

10 0.03 0.13 0.44 2.57 7.03 2251 50.56

5 12-40 0.03 0.03 0.13 0.47 2.71 7.42 23.29
50-100 0.03 0.03 0.13 0.44 2.57 7.03 22.51

B K INiE 1455 T2B=60% of T2NOT
ZERXABEEAE ERP, BWmRAMARE,
. The Max. acceleration torque T2B=60% of T2NOT 2. When output speed is 100rpm, inertia acts on the output shaft center position.
3-stage big ratios are not in the above table. There is shaft lengthening and enlarging design. Please tell sales person if you need it.

2. M HEE100rpmis, (ERREHEPOEE,

FERIFESMHEAR,

MODEL: PAB

BEg 1-Stage
Ett' 3; 4; 5; 6! 7! 8! 91 10

SMEZ R~F[E Dimensions:
B N\ Input

C2

Rt
Size

o

=Ll
WM =

L6

e

NRV OO |
w(mn N —| 00 |~

o

FI:F
(]

PABO42-L1 PABO60-L1

$13
35

$8(<11)
$30(30-50)

$ 50

4-$3.4

& 46(22-70)

(4-M3X8L)
M4X0.7P

19
55
4
26
(4)
30
(65.5)
(91.5)
42
(CI42)
2
16
15
5
3
68
9.2
$13
15
18

1. () SRR R AERESE RS,

2. ERHH WA LR R PR AR,

3 BN RHEkE &b (AR BIE I BIET LA PR,

L8
L4 L7
L1 L3
] T T =
52 7 |
o —i* m = O
e 4 —E—J —+ ==
51 ;
| p ||
L2 | | L5
L6
K6
N K9
Fss Sl ;T

616 $22
$50 $80
b 14(<14) $19(=<24)
¢ 50(30-70) 4 70(50-110)
$70 ¢ 100
4-455 4-46.6
¢ 70(45-90) ¢ 90(70-145)
(4-M5X10L) (4-MBX12L)
M5X0.8P M8X1.25P
28.5 36.5
7 10
6 8
37 48
(5) (7)

34 45
(78) (99)
(115) (147)
160 []90
([Je0) ((J90)

2 3
25 32
18 24.5
5 6
4 6
b 11 $22
12.7 25
b 16 $32
15 20
18 24

() FESRINBIRER T,

$32
110
$24(<32)
¢ 110(50-130)
$ 130
4-49
¢ 145(70-145)
(4-M8X25L)
M12X1.75P

51

12

10

65

(11)

65
(135)
(200)
1115

(C1130)
5

40

35

10

8
$28
31.3
$38

27

32

¢ 40
$130
¢ 35(<42)
$114.3(95-180)
4165
4- 11
¢ 200(90-215)
(4-M12X30L)
M16X2.0P

79

15

12

97

{7)

67.5
{150)
(247)
(1142

(C1142)
5
65
43
12
10
$38
42
$48
35
40

PAB0O90-L1 PAB115-L1 PAB142-L1 PAB180-L1

$ 55
& 160
$38(<50)
¢ 180(95-180)
$215
4-$13
¢ 200(90-300)
(4-M12X30L)
M20X2.5P

82

20

15

105
(7)

85
(182)
(287)
1180

([1180)
5

70

59

16

14

¢ 50

53.8
$ 60
43
50

Unit:mm

PAB220-L1

$ 75

$ 180
$ 55(<55)
¢ 215(180-255)
$250
4-$17
$ 235(200-300)
(4-M12X30L)
M20X2.5P
105
30
20

138
(12.5)

105
(226)
(365)
1220

([C1220)
7
90
79
20
16

$ 60

64.4

72

60
65

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.

or stepper motors sizes.

Note 3: Input sizes can be subject to changed according to the brand servo motors



PRECISION PLANETARY REDUCERS
e 25 17 28 Sl ER ok

PAR

MODEL: PAB

#EF 2-Stage

i®tk: 12, 15, 16, 20, 25, 28, 30, 35, 40, 50, 70
80, 100

1. 5856
BEXAEEEE AR RER, SENRETER
0EHEH, HETREEM,

4 M2 R ~F[@ Dimensions:

& N\ Input s L8 Il R . % ) 2B, B
c2 L4 L1 fE R AR, AKIRE T BIEMALE,
L1 L3 3. HEG
y ARt R FEA—=HE L,
— I T— LRI )
) ) £ 4.,..1&7/55&/@//5 - ) -
| O ¥ ERABHME. AEIEMNEBIE, BW0ILHEBERE.
T ] e M
o o B [N SRS )| {7 p 5/%-5%7.7_ @ .
9 = % I Ry B ° EEDEGHNETERMEE, REEEL.
S1.2- rY
1 | 1.Space — saving
Right angle reducer using spiral bevel gear
L2 L5 Costomer can locate the motor at 90 degree away
L6 from the reducer if required to save space.
e 2.High rigidity & torque
ki A6 High rigidity & high torque was achived by uncaged
it i B ; ?i:ﬁ f needle roller bearings.
s pAs ‘ 2% = 3.Adapter-bushing connection
Unit:mm Can be attached to any motor all over the world.
913 16 22 032 40 $55 75 Plzr;esc;t solution by high viscosity anti-separation
$35 ¢ 50 $ 80 6110 $130 $ 160 $ 180 g )
6 8(<11) b 14(<14) $19(<24) $24(<32) $35(<42) ¢ 38(<50) $55(<55) 5.Maintenance—ifree .
4 30(30-50)  50(30-70) $70(50-110) ¢ 110(50-130) ¢ 114.3(95-180) ¢ 180(95-180) ¢ 215(180-255) No need to replace the grease for the life time.
50 670 4100 6130 165 6215 250 Can be attached in any position.
| D6 | 4-$34 4-$55 4-$66 4-49 4-¢ 11 4-413 4-417
$ 46(22-70) ¢ 70(45-90) ¢ 90(70-145) $145(70-145)  $200(90-215)  $200(90-300) ¢ 235(200-300) b = H1&E FI ; H
B (4-M3xsL) (4-M5X10L) (4-M6X12L) (4-M8X25L) (4-M12X30L)  (4—M12X30L) (4-M12X30L) " ];E% EII] = :'=/ I n d |Cat| on Of M Odel N um be rs
B v4xoP M5X0.8P M8X1.25P M12X1.75P M16X2.0P M20X2.5P M20X2.5P
55 7 10 12 15 20 30 PAR %5] /PAR Type
4 6 8 10 12 15 20
(4) (5) (7) (11) (7) (7) (125) PAROSO ey BECE - S1 = P1 /
25 3 s 65 675 o5 105 : T— . | 1
(93) (117) (144) (161) (196) (232) (277) :""""'""'"""""""""""'; \ I'Z-H '}:lgﬁaﬁia} """"" . 1
(114) (154) (192) (226) (293) (337) (415) | ORI Type 1 a L1 RIEBSE/Motor Type |
42 60 90 0115 (1142 1180 220 i : - e OUtpu;thaﬂ Keyway P :
(T42) (C160) (C190) (C1130) (C142) (C1180) (C1220) | PAR042, PAR060, PAR090, PAR115! | | S1: B, Ml B BiEHI SRR AR !
2 2 3 5 5 5 7 ' PAR142, PAR180, PAR220 1 11 (Solid Output Sgaft No Keyway) | |\ Motor manufacturer & model |
16 25 32 40 65 70 % ; L S mER, mEE !
15 18 245 35 43 59 79 ; L Standard egway) e :
[ B 3 S g i = i 20 i bi Output for holes b :
3 4 6 8 10 14 16 e T T e e B s '
¢8 11 22 $28 $38 $50 $60 . s pommmmmmnn e I e LR :
92 12.7 25 313 42 538 644 | R EEEE Ratio » % BR% M Backlash Class |
$13 416 432 $38 bee ¢ 60 ¢72 | E8f/1-stage: 3, 4, 5, 6, 7, 8, 9, 10, 14, 20 | | PO: 5% &/Micro Backlash PO |
18 iz 20 2 o & 80 | & / 2-stage: 15, 20, 25, 30, 3, 40, 50, 70, 80, | | P1. ¥@ 58 Precision Backlash P1 |
18 18 24 %2 50 i i 90, 100, 120, 140, 160, 180, 200 ! | P2. fE=i#15M/Standard Backlash P2 |
1 () IEAEAEEEER, () BN EIE#ERST.  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. { - ]

2. HEEH AU EE PE R NMIRE.
3 WARHEE S REEARSES S ERERT LA EE,

17—

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

RUBEETE . PAR090-100-S2-P1/Panasonic MSMJ 082S1A

Model Example: PAR090-100-S2-P1/Panasonic MSMJ 082S1A s



PAR B EgEE ]  Specification Table

i
Model No

FRTE M HAETan
Rated Output Torque

Bk #i H4RE Tanor'/ Max.Output Torque
FATE M AESi%Nw/Rated Input Speed
A Hi A\#ENe/Max.Input Speed

#EMP1 / Precision Backlash P1

#E ¥ P2 [ Standard Backlash P2

AR % Torsional Rigidity

B {818 /Fzn’ / Max.Radial Force
EEFMNE J1F2018° / Max.Axial Force
{EB%E L / Service Life

(& n /Efficiency

E&E/Weight

4 iR B / Operating Temperature
iEi&/Lubrication

Biili% 4% / Protection Class

Z #7518 / Mounting Position

1248 (n1=3000rpm, #Ef#)/ Noise Level

BAr
Unit

Nm

Nm
rpm
rpm

arcmin

arcmin

Nm/arcmin
N
N
hr

%

kg
T

dB(A)

3 1100 1860
4 16 55 153 330 600 1250 1950
5 15 53 152 325 590 1200 1900
1 6 11 45 130 250 450 950 1600
i 15 50 140 300 540 1050 1760
8 11 45 110 260 460 960 1550
9 9 40 100 230 450 900 1500
10 12 48 128 280 520 1000 1120
14 13 42 120 265 500 1020 1100
20 10 42 115 255 500 980 1100
15 13 50 150 300 530 1100 1800
20 15 52 150 300 530 1150 1800
25 15 53 150 325 590 1200 1800
30 13 49 150 310 550 1100 1830
35 13 50 140 300 540 1100 1800
40 15 45 140 260 500 1000 1600
50 15 50 135 230 580 1200 1670
70 13 50 130 300 520 1100 1600
2 80 11 40 100 260 500 1000 1500
100 10 40 100 230 450 900 1500
120 = = 130 310 500 1100 1900
140 — — 130 300 530 1100 1800
160 — = 120 260 520 1000 1600
180 — — 100 230 450 900 1500
200 — — 100 230 450 900 1500
12 3-200 S{EFEE I H F146/3Times of Nominal Output Torgue
e 3~200 3000 3000 3000 3000 2500 2000 2000
{2 3-200 6000 6000 6000 5500 4500 4500 4000
1 3-20 =5 <5 <5 =5 =<5 <5 =5
2 15~200 =8 =8 =8 =8 =8 =8 =8
1 3~20 =8 =8 =8 =8 =8 =8 =8
2 15~200 =10 =10 =10 =10 =10 =10 =10
12 3~200 3 6 14 25 56 140 220
12 3~200 780 1300 3200 6750 9400 14500 50000
1,2 3~200 330 700 1580 3300 4700 7200 28000
1,2 3~200 21000 h
1 3-20 =93%
2 25~200 =90%
1 3~20 0.9 2.1 6.4 13 245 51 83
2 25~200 1% 5 7.8 14.2 27.5 54 95
2 3-200 (-15T ~ +90C)
1,2 3~200 £ & MR AE(Synthetic Grease)
12 3~200 IP65
1,2 3~200 fE&E 7[5 (Any Direction)
L] 3~200 =65 <65 <68 =68 =70 <72 =74

R E E) 18 2/Moment of Inertia/

b B{r HiEL I
Model No Unit Ratlo PAR042 | PARO60 PAR090 PAR115 PAR142 | PAR180 PAR220

wEpiEEN

kg.cm®
Moment of Inertia

Y s @) ==

~19-—

. IR K NiE 5145 T2B=60% of T2NOT
ZERAEERARE LR, HmRImARE,
. The Max. acceleration torque T2B=60% of T2NOT 2. When output speed is 100rpm, inertia acts on the output shaft center position.
. 3-stage big ratios are not in the above table. There is shaft lengthening and enlarging design. Please tell sales person if you need it.

2. i HEEO100rpmEF, (ERREHEH OGS,
EEMIBEEMHEEAR,

3~10 0.09 0.35 2.25 6.84 23.4 68.9 135.4

14-20 0.03 0.07 1.87 6.25 21.8 65.6 119.8

2 15~100 0.09 0.09 0.35 2.25 6.84 23.4 68.9
120~200 — — 0.31 1.87 6.25 21.8 65.6

MODEL: PAR

B E 1-Stage
®tk: 3, 4, 5, 6, 7, 8, 9, 10, 14, 20

M2 R~F & Dimensions:

L6
L5
i 3% Output L4 L3 B\ Input
oct ’
R
2 = 52 0
= & ] N = - - i
e a S FE—D | &
L2 =
K1 K6 D3
:%9’ = M
Unit:mm

e e T e [ e ]
$13 $16 b 22 $32 $ 40 $55 $75

$ 35 50 ¢80 $110 $ 130 ¢ 160 $180
$8(<11) b 14(<14) b 19(<24) $24(<32) $ 35(<42) ¢ 38(<50) ¢ 55(<55)
2 4 30(30-50) ¢ 50(30-70) $70(50-110) ¢ 110(50-130) ¢ 114.3(95-180) ¢ 180(95-180) ¢ 215(180-255)
$50 $70 $100 $130 $ 165 $215 250
| De R 4-$55 4-$6.6 4-¢9 4-¢ 11 4-$13 4-$17

¢ 46(22-70) ¢ 70(45-90) $90(70-145) ¢ 145(70-145)  $200(90-215)  $200(90-300) ¢ 235(200-300)
[ D8 ECEVENEN (4-M5X10L) (4-M6X12L) (4-MBX25L) (4-M12X30L) (4-M12X30L) (4-M12X30L)
B VvexorP M5X0.8P M8X1.25P M12X1.75P M16X2.0P M20X2.5P M20X2.5P
19 285 36.5 51 79 82 105

55 7 10 12 15 20 30

4 6 8 10 12 15 20

26 a7 48 65 97 105 138

(96) (117) (175) (227) (255) (289) (346)
(122) (154) (223) (292) (352) (394) (484)
(35) (5) (5) (11) (14) (15) (7)
(30) (34) (44) (60) (81) (85) (85)
69.5 815 107.5 134 165 2135 268.5
s 95.5 110.5 158 199 230 303.5 378.5
142 160 90 0115 142 1180 220
(C42) (CJ60) (CJ90) (C1130) (CI142) (C1180) (C1220)

16 25 32 40 65 70 90

15 18 24.5 35 43 59 79

[ &5 ] 5 5 6 10 12 16 20

3 4 6 8 10 14 16

¢8 ¢ 11 $22 ¢ 28 38 $50 $ 60
9.2 12.7 25 31.3 42 53.8 64.4
$13 $16 $32 $38 48 $ 60 $72

15 15 20 27 35 43 60

18 18 24 32 40 50 65

1 () BRABTEEEERT, () FYINESERR~,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
2. RLESEH hE AT LB E P E H KRR Note 2: The reducer output shaft size and length can be customized for customers.
3 MARTMEIEE BIERAREES & BIEMIBEREE), Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

—20-



MODEL: PAR

&y 2-Stage

EEEL :
120,

140, 160,

180, 200

4p 2 R~T[E Dimensions:

B 3% Output
[lct

15, 20, 25, 30, 35, 40, 50, 70, 80,

100 ,

D2

1=
1
#
fohit
st B

n

(520 ==

~

Ll 1 ol I ol I el ol

9]
[ e

Wik = n

~

(o]

o |
I
I

H1: () IWSRARAEESEER T,

g . i
3,
PARO42-L2 PARO60-L2 PARO90-L2 PAR115-L2 PAR142-L2 PAR180-L2 PAR220-L2

$13
$35
$8(=11)
¢ 30(30-50)
50
4-¢3.4
$ 46(22-70)
(4-M3X8L)
M4X0.7P
19
5.5
4
26
(113)
139
(35)
(30)
(69.5)
(905)
42
([142)
2
16
15
5
3
68
9.2
$13
15
18

HdA

16 $22
$ 50 $ 80
$ 14(<14) $ 19(<24)
¢ 50(30-70) ¢ 70(50-110)
$70 $ 100
4-455 4-46.6
¢ 70(45-90) ¢ 90(70-145)
(4-M5X10L) (4-MBX12L)
M5X0.8P M8X1.25P
28.5 36.5
7 10
6 8
37 48
(134) (157)
171 205
(5) (£5°)
(34) (44)
(81.5) (107.5)
(111.5) (152.5)
160 J90
(C160) (C190)
2 2
25 32
18 245
5 6
4 6
¢ 11 $22
12.7 25
$ 16 $32
15 20
18 24
() FESRIMBIZER ST,

2 EEREH A AR PES /MRS,

3 MARTREERIEERBIES S EBIER LG EEh,
21—

L10

L9

L7
L8

$32
$ 110
$24(<32)
¢ 110(50-130)
$ 130
4-49
¢ 145(70-145)
(4-MBX25L)
M12X1.75P
51
12
10
65
(224)
(292)
(11)
(60)
(134)
(191.5)
1115
(C1130)
5
40
35
10
8
$28
31.3
$ 38
27
32

¢ 40
$ 130
¢ 35(=<42)
¢ 114.3(95-180)
$ 165
4-$ 11
¢ 200(90-215)
(4-M12X30L)
M16X2.0P
79
15
12
97
(282)
(378)
(14)
(81)
(165)
(236)
142
(C1142)
5
65
43
12
10
$38
42
$ 48
35
40

$ 55
¢ 160
¢ 38(<50)
¢ 180(95-180)
$ 215
4-413
¢ 200(90-300)
(4-M12X30L)
M20X2.5P
82
20
15
105
(322)
(427)
(15)
(85)
(213.5)
(303.5)
1180
(C1180)
5
70
59
16
14
¢ 50
53.8
$ 60
43
50

Unit:mm

$75
$180
$ 55(=<55)
$ 215(180-255)
$ 250
4-$17
$ 235(200-300)
(4-M12X30L)
M20X2.5P
105
30
20
138
(383)
(521)
(7)
(85)
(268.5)
(3785)
220
(C1220)
7
90
79
20
16
$ 60
64.4
$72
60
65

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.

or stepper motors sizes.

Note 3: Input sizes can be subject to changed according to the brand servo motors

PRECISION PLANETARY REDUCERS
Ao 172 il Rk

1.58 5

{F Al e E I 55 5 g

2EBE

BERIEFIS. ELLFERE.

3. EE, SHE

ERAERENETEHR, KKRSTRIMEFRAE,
4.5RT. s It

A RERHR FER—EHEL,

5. RS T

ERASHE. TEOBERE, B3 EEEERRE,
6.AEETE
EEMRSGHANEZEEREEE, REEFEE,

1.Quiet operation
Helical gears contribute to reduce vibration and noise.
2.High precision
Standard backlash is 3 arc—min, ideal for precision
control.

3.High rigidity & torque
High rigidity & high torque were achived by uncaged
needle roller bearings.

4.Adapter—bushing connection
Can be attached to any motor all over the world.

5.No grease leakage
Perfect solution using high viscosity anti-separation

grease.

6.Maintenance—free
No need to replace the grease for the life of the unit.
Can be attached in any position.

IR A1 2 /Indication of Model Numbers

PLF %7%I/PLF Series

. . A H s I |
| ‘n R U 1 1 1 i ; |] ﬂﬂ' ]
| BRI Type " | Output ShaftKeyway | | B ZER5E/Motor Type ,
| PLF040, PLF060, PLF080, PLF120 | | S1: WiiE, M P o !
, PLF160 E ! (Solid Output Shaft No Keyway) | | RIS RAH 1
i v So. EES . Al i | Motor manufacturer and model |
: . Standard (Keyway) Lo ,
l o S3: iﬁiéﬂﬁlﬂ b :
i L Output for holes | : |
I bk /Ratio

5 FE % 4 Backlash Class

EBHfj/ 1-stage: 3,4,56,7,89,10 ; !
PO: E#§% 5 B/Micro Backlash PO !

i/ 2-stage: 12,15,16,20,25,28,30,35,40,50,70,80,100 i
£/ 3-stage: 60,64,72,80,90,100,120,144,150,160,180, i

200,240,258 288,320,384 512,600,800,1000 P1: ¥5% & El/Precision Backlash P1

P2. #Z#i5pH/Standard Backlash P2

EAIE ). PLFO80-100-S2-P1/Panasonic MSMJ 082S1A
Model Example: PLF080-100-S2-P1/Panasonic MSMJ 082S1A

_0o_




PLF B EAEE Rl Specification Table
3 17 28 112 165 423

4 15 38 110 146 364
1 5 14 40 108 160 423
7 13 35 105 149 358
10 12 25 100 141 293
15 T 28 112 165 423
20 15 38 110 146 364
itf:;ﬁf:m Nm 25 14 40 108 160 423
30 13 28 112 165 423
2 35 13 35 105 149 358
40 12 38 110 146 364
50 14 40 108 160 423
70 13 35 105 149 358
100 12 25 100 141 293
2 K Hi 145 Tanor'/ Max.Output Torque Nm 10 3~100 3MEEEEE K 14E/3Times of Nominal Qutput Torque
#7E Wil A B E N w/Rated Input Speed rpm Jie 3~100 3000 3000 3000 3000 2500
1 K8 N B %N e/Max.Input Speed rpm 1,2 3~100 5000 5000 5000 5000 3600
) 1 3~10 =3 =3 =3 <3 =3
FE&H5PEP1 / Precision Backlash P1 arcmin o 12100 <5 - <5 <5 <5
i i 1 3~10 =5 <5 <5 <5 <5
#=# ¥ IP2 / Standard Backlash P2 arcmin o 12100 56 ™ =5 P e
HEERIE/ Torsional Rigidity Nm/arcmin ol 3~100 8 6 12 22 50
% [a A F2® / Max.Radial Force N 1,2 3~100 320 460 1300 3200 6520
BRI 1 F2a18” / Max.Axial Force N 1,2 3~100 160 230 660 1600 3260
{EFE® / Service Life hr 1,2 3~100 20000 h
3% n [Efficiency % L e =97%
2 15~100 =04%
1 3~10 0.73 0.99 2 4.98 18.2
i & 2 15100  1.05 1.46 3.2 6.92 24.9
{EFIRFE / Operating Temperature G 1.2 3~100 -25C~+90C
iMig/Lubrication 1,2 3~100 £ & i BimAESynthetic Grease
B & 4% / Protection Class 1,2 3~100 IP65
#7715 / Mounting Position 1,2 3~100 fEE Any
1 18 (n1=8000rpm, FEEH)/ Noise Level dB(A) 1.2 3~100 =62 =63 =65 =67 =68

AR E E) 18 2/Moment of Inertia/

0.16 0.63 3.48 12.84 36.72

4 0.16 06 3.31 12.22 34.63

1 5 0.16 0.59 3.28 12.1 34.24

DHBR i | o 7 0.16 0.59 3.27 12.05 34.07
10 0.16 0.59 3.26 12.03 34.02

2 12-40 0.16 0.59 3.26 12.03 34.02

50-100 0.16 0.59 3.26 12.03 34.02

1. R EE (i=Nin/Nout) 2. & HEE20100rpmEs, {ERTHitHEh OGS, 3. “#EiFESE, FRAEAHE10000hrs,

1. Ratio (i=Nin/Nout) 2. When output revolution is 100rpm, acting on the output shaft center position.
3. *Continuous operation, service life is 10000hrs

03

MODEL: PLF

ESEg 1-Stage
®ik: 8, 4, 5, 7, 10,

Sp2 R ~F[E Dimensions:
B\ IH Input

[1c2
Ko
% =
od 1
118
© e/
&
Y
o1/ @.L
Hitth T
skt » Fistsz |

3

010|100
BN

i (=}
~

e B
wn

L4

B8|12(8|2|5|&

AIXRIARIARAR
(S RN R Al

Py
(=)

83

PLF040-L1

$12(13)
426

$8(=

11)

$30(30-50)
(¢ 48)
4-$34
$ 46(45-70)
(4-M4XBL)

M4X0.

18

7P

b 11

20
24

1 () BRI ARSI E R,

2. EEEE L AT LEE FERRNRE.
3 BARTRIBESRAEERSES ST SER UG EE),

L7
L4 L3
L1
52
] ' I @)
5 = ®© 8 o | 9=
'_ i
A st
L2 L5
L6

D1

E :
=

PLFOG0-L1
b 14(16)
$50
b 14(=19)
¢ 50(50-70)
(¢70)
4-45
$70(70-130)
(4-M4X10L)
M5X0.8P
31
3
8
35
(5)
(37)
(117)
Ll62
(L162)
25
25
16
5
3
68
9.2
o 11
20
24

() BERIBRIERST

PLF080-L1
$20(22)
¢80
$19(<24)
$ 70(50-110)
($100)
4-$65
$ 90(70-145)
(4-M5X12L)
M6X1.0P
36
3
10
40
(5)
(42)
(157)
(190
(L192)

28
22.6

$18
21
$24
30
35

PLF120-L1
$ 25(32)
6110
$24(<32)
$ 110(70-130)
($130)
4-49
$ 145(90-165)
(4-M8X25L)
M10X1.5P
50
4
15
55
(8)
(59)
(211)
1124
(L1120)

5
40
28
8
8
$25
28
$32
40
48

% H 3% Output
Clet

[C1

Unit:mm
PLF160-L1

¢ 40
$130
¢ 35(42)
$114.3(110-150)
$ 185(165)
4-¢ 11
¢ 200(145-220)
(4-M12X25L)
M16X2.0P
80
5
16
87
(7)
(86)
(292)
175
(L1176)
8
65
43
12
10
$35
38.3
$ 42
52
58

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

D4



PLF B EAEE Rl Specification Table
3 17 28 112 165 423

4 15 38 110 146 364
1 5 14 40 108 160 423
7 13 35 105 149 358
10 12 25 100 141 293
15 T 28 112 165 423
20 15 38 110 146 364
itf:;ﬁf:m Nm 25 14 40 108 160 423
30 13 28 112 165 423
2 35 13 35 105 149 358
40 12 38 110 146 364
50 14 40 108 160 423
70 13 35 105 149 358
100 12 25 100 141 293
2 K Hi 145 Tanor'/ Max.Output Torque Nm 10 3~100 3MEEEEE K 14E/3Times of Nominal Qutput Torque
#7E Wil A B E N w/Rated Input Speed rpm Jie 3~100 3000 3000 3000 3000 2500
1 K8 N B %N e/Max.Input Speed rpm 1,2 3~100 5000 5000 5000 5000 3600
) 1 3~10 =3 =3 =3 <3 =3
FE&H5PEP1 / Precision Backlash P1 arcmin o 12100 <5 - <5 <5 <5
i i 1 3~10 =5 <5 <5 <5 <5
#=# ¥ IP2 / Standard Backlash P2 arcmin o 12100 56 ™ =5 P e
HEERIE/ Torsional Rigidity Nm/arcmin ol 3~100 8 6 12 22 50
% [a A F2® / Max.Radial Force N 1,2 3~100 320 460 1300 3200 6520
BRI 1 F2a18” / Max.Axial Force N 1,2 3~100 160 230 660 1600 3260
{EFE® / Service Life hr 1,2 3~100 20000 h
3% n [Efficiency % L e =97%
2 15~100 =04%
1 3~10 0.73 0.99 2 4.98 18.2
i & 2 15100  1.05 1.46 3.2 6.92 24.9
{EFIRFE / Operating Temperature G 1.2 3~100 -25C~+90C
iMig/Lubrication 1,2 3~100 £ & i BimAESynthetic Grease
B & 4% / Protection Class 1,2 3~100 IP65
#7715 / Mounting Position 1,2 3~100 fEE Any
1 18 (n1=8000rpm, FEEH)/ Noise Level dB(A) 1.2 3~100 =62 =63 =65 =67 =68

AR E E) 18 2/Moment of Inertia/

0.16 0.63 3.48 12.84 36.72

4 0.16 06 3.31 12.22 34.63

1 5 0.16 0.59 3.28 12.1 34.24

DHBR i | o 7 0.16 0.59 3.27 12.05 34.07
10 0.16 0.59 3.26 12.03 34.02

2 12-40 0.16 0.59 3.26 12.03 34.02

50-100 0.16 0.59 3.26 12.03 34.02

1. R EE (i=Nin/Nout) 2. & HEE20100rpmEs, {ERTHitHEh OGS, 3. “#EiFESE, FRAEAHE10000hrs,

1. Ratio (i=Nin/Nout) 2. When output revolution is 100rpm, acting on the output shaft center position.
3. *Continuous operation, service life is 10000hrs

03

MODEL: PLF

ESEg 1-Stage
®ik: 8, 4, 5, 7, 10,

Sp2 R ~F[E Dimensions:
B\ IH Input

[1c2
Ko
% =
od 1
118
© e/
&
Y
o1/ @.L
Hitth T
skt » Fistsz |

3

010|100
BN

i (=}
~

e B
wn

L4

B8|12(8|2|5|&

AIXRIARIARAR
(S RN R Al

Py
(=)

83

PLF040-L1

$12(13)
426

$8(=

11)

$30(30-50)
(¢ 48)
4-$34
$ 46(45-70)
(4-M4XBL)

M4X0.

18

7P

b 11

20
24

1 () BRI ARSI E R,

2. EEEE L AT LEE FERRNRE.
3 BARTRIBESRAEERSES ST SER UG EE),

L7
L4 L3
L1
52
] ' I @)
5 = ®© 8 o | 9=
'_ i
A st
L2 L5
L6

D1

E :
=

PLFOG0-L1
b 14(16)
$50
b 14(=19)
¢ 50(50-70)
(¢70)
4-45
$70(70-130)
(4-M4X10L)
M5X0.8P
31
3
8
35
(5)
(37)
(117)
Ll62
(L162)
25
25
16
5
3
68
9.2
o 11
20
24

() BERIBRIERST

PLF080-L1
$20(22)
¢80
$19(<24)
$ 70(50-110)
($100)
4-$65
$ 90(70-145)
(4-M5X12L)
M6X1.0P
36
3
10
40
(5)
(42)
(157)
(190
(L192)

28
22.6

$18
21
$24
30
35

PLF120-L1
$ 25(32)
6110
$24(<32)
$ 110(70-130)
($130)
4-49
$ 145(90-165)
(4-M8X25L)
M10X1.5P
50
4
15
55
(8)
(59)
(211)
1124
(L1120)

5
40
28
8
8
$25
28
$32
40
48

% H 3% Output
Clet

[C1

Unit:mm
PLF160-L1

¢ 40
$130
¢ 35(42)
$114.3(110-150)
$ 185(165)
4-¢ 11
¢ 200(145-220)
(4-M12X25L)
M16X2.0P
80
5
16
87
(7)
(86)
(292)
175
(L1176)
8
65
43
12
10
$35
38.3
$ 42
52
58

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

D4



PRECISION PLANETARY REDUCERS
e 25 17 28 IRl ER 5%
1R E

P L E 5 P RIS R B
’gﬁfﬁg TERE

9"3:':; Rﬂ' Dimensions . 2 ‘1E:}:3ﬁ\ E{jﬁ ©
’ el SR
&) H 3% Output =i . AKIRE THIMEARLE,

P 4 EF, EAEEA
ﬂlﬂ}l?‘fgﬂjﬁﬁiﬁiﬂ_gt%ﬁio
5. BB S i
EREHE. AESHBERE, S LEEREYR.
6.HEETNE
CEEREMARNESEHRIBERE, REEFEE,
1.Quiet operation
Helical gears contribute to reduce vibration and noise.
2.High precision
Standard backlash is 3 arc—min, ideal for precision
control.
3.High rigidity & forque
High rigidity & high torque were achived by uncaged
needle roller bearings.

4. Adapter—bushing connection
Can be attached to any motor all over the world.

MODEL: PLF

t#Ek 2-Stage
i=®tL: 15, 20, 25, 30, 35, 40, 50, 70, 100

I\ I Input L7

(162 L4 L3 ot

L2
LIC1

L2

L ki K6

R E TR WS —
st & Feats2 : @ >,
D1 D1 -

Unit:mm 5.No grease leakage

$12(13) $ 14(16) $20(22) $25(32) $ 40 gigase.
26 $ 50 ¢80 $110 130 6.Maintenance—free
$8(=<11) b 14(<19) $19(<24) $24(<32) $35(42) . No need to replace the grease for the life of the unit.
$ 30(30-50) $ 50(50-70) $70(50-110) ¢ 110(70-130) ¢ 114.3(110-150) Can be attached in any position.
$48 ($70) (¢ 100) ($130) ¢ 185(165) . J
[ D6 | 4-¢3.4 4-45 4-465 4-49 4-411 \Fi‘ %E{]‘ I i i
¢ 46(45-70) ¢ 70(70-130) $90(70-145) ¢ 145(90-165) $ 200(145-220) Ve E :L’E—E :-'1/ I n d I Cat|0 n Of M Od el N u m be I’S
[ D8 | (4-M4X8L) (4-M4X10L) (4-M5X12L) (4-MBX25L) (4-M12X25L) y
[ Do | M4X0.7P M5X0.8P M6X1.0P M10X1.5P M16X2.0P PLE % §|J/P|_E Serles
18 31 36 50 80
3 3 3 4 5
4 s ; : L PLE 050 S - I - / R
225 35 40 55 87 ' : . ' '
(5) (5) (5) (8) Wi @49 :7777777777777777777777‘:::;::::1 777777777777 R, T\ FRE e e L
(32) (37) (42) (59) (86) : b N |
(105) (138) (160) (224) (295) | ORIEEE RN/ Type b i B AE L EBIERISE/Motor Type |
2 L = = e | PLE040, PLEOGO, PLEOBO, PLE120 | | Olé:p ULS‘hﬁamﬂ ;eé\éay i :
(150) (162) (C092) (O120) (O176) | ' ” . g 2 L, # L1 e |
2 25 4 5 8 | PLE160 ' || (Solid Output Shaft No Keyway) | | | FIE RIS B AL :

. ! N S2. {EHE g ' i Motor manufacturer and model |
14 25 28 40 65 : ) Slandard (K N :
135 16 226 28 43 : 2 tandand (1seyvay) s !
R - 5 5 8 12 ! N Output for holes R !
3 3 6 8 10 .+ - e |
4 49 b18 425 $35 e : 7 |
02 02 2 28 383 fF e ha | #8% #iBacklash Class i
o 11 o 11 $24 32 $42 | E8ffi/ 1-stage: 3,4,5,6,7,8,9,10 P L !
20 20 30 40 52 | &/ 2-stage: 12,15,16,20,25,28,30,35,40,50,70,80,100 | | PO: B¥% i/ Micro Backlash PO :
24 24 35 48 58 | £/ 3-stage: 60,64,72,80,90,100,120,144,150,160,180, | | P1: #5% ¥ [&/Precision Backlash P1 !

1 \ 1 . 3 Al 1 )
Ei: () EMARAEEREERS, () FRSNREERST.  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. e 290%402§82?831%03?4512760980071090' G Fj 2 7@77%'{%/8}?”517&“1 Ea(iiflasip? ,,,,,,,,,, !
2. RIEHH TErT IR E R ERKNIRE. Note 2: The reducer output shaft size and length can be customized for customers. ; .
il . = —_S2-_
3 MIARTRESRIRFERSES S BERLIAREE . Note 3: Input sizes can be subject to changed according to the brand servo motors 18 *%ﬁlj : PLE080-100-S2-P1 /Panasoq ic MSMJ 082S1A
or stepper motors sizes. Model Example: PLE080-100-S2-P1/Panasonic MSMJ 08251A

P -26-



PRECISION PLANETARY REDUCERS
a5 13 2 iRl ER ok

MODEL: PLE

H#EF 2-Stage
i®Lk: 15, 20, 25, 30, 35, 40, 50, 70, 100

1. B
HIERTF39. EAEE,
2. G, FHE
{EREREETFIR, AXESTHIEFEALE,
3 EFRAESE
TR R RiER, BREANRAE.
4.5 5, EREa 7Tt
A RESH R EEA—EREL,
5. R G i
ERBHE. FESEAMEBNE, B0 LEMEERE,
6.AEETTE
EERSGHNETERERE, REEER,
1.High precision
Standard backlash is 3 arc—min, ideal for precision control
2.High rigidity & torque
High rigidity & high torque were achived by uncaged
needle roller bearings.

SMEZ R <F & Dimensions:

B A\ Input L7

762 L4
, L1

ﬁ\s 52

o 4 ——
h, e et eBert
N S1
D8 L2 || LS ||

B H 3% Output

(162
s
L
.
"
D3
D4

&/ 1-stage: 12, 15, 16, 20, 25, 28, 30, 35, P1: #5%%6/Precision Backlash P1
40, 50, 70, 80, 100 P2. {=#7%B4/Standard Backlash P2

L6 3.High load capacity
il Ké Adopting taper roller bearing for the main output shaft
: K1 RO pung tap g p
il 1 e %[— D9 s K2 ﬁ to increase radial and axial load.
= @?( { %ﬁl = 4.Adapter-bushing connection
H D1 — 1| b1 e Unltmm Can be attached to any motor all over the world.
5.No grease leakage
| &1 | eewow Perfect soluton using high viscosity anti-separation
$12(18) ¢ 14(16) $20(22) $25(32) 40 grease.
$:26 ai $5 SR il 6.Maintenance—free
g oL=11) $14(<19) $19(=24) ) $9a(13) : No need to replace the grease for the life of the unit.
$ 30(30-50) ¢ 50(50-70) ¢ 70(50-110) $110(70-110) ¢ 114.3(110-150) Can be attached in any position.
¢34 $52 $70 ¢ 100 $ 145
| bs | (4-M4) (4-M5) (4-M6) (4-M10) (4-M12) ‘J:Ji A 1% H/J 3 1 - .
$ 46(45-70) ¢ 70(70-130) ¢ 90(70-145) ¢ 145(90-165) $ 200(145-220) g :La—:E . 1% i/ I n d ICatIO n Of M Od el N um be rs
[ D8 | (4-M4X8L) (4-M4X10L) (4-M5X12L) (4-M8X25L) (4-M12X25L)
| be | M4X0.7P M5X0.8P MBX1.0P M10X1.5P M16X2.0P | i
2 3 3 4 :
26 35 40 55 87 :
(4) (5) (5) (8) (7) PAD 090 73 / SiE
26 32 42 59 86 i ] ] o {
104.5 133 168 221 331.5 : 1 ! ; !
$42 $ 60 ¢ 80 $ 120 $ 160 S e RNV S T L CTTTTTTTTTT T !
cstf (D:O) (D262) (sz) (I]; 20) (l:]:a 76) | RIEE R Type . 1 Outptﬁ?ﬁiﬁﬁyway 1 BiEAIZE/Motor Type |
s | &8 | :
14 25 28 40 65 | PAD047, PAD064, PAD090, PAD110] | | S1: FL#, MRt L o " 1
135 16 225 28 43 | PAD140, PAD200, PAD255 ! | (Solid Output Shaft No Keyway) i ' | R HlET KB i
| B | 4 5 6 8 12 i % | S2: HEm, AR 1 \ Motor Manufacturer & Model |
3 3 6 8 10 L A Soa el oy | | S |
48 49 418 425 p35 3 j
9.2 9.2 21 28 38.3 P o L, 7 il R !
AT i 12 b i | L% tk/Ratio L % 4n Backlash Class !
O : . ‘
24 24 35 48 58 | Eff/1-stage: 3, 4, 5, 6, 7, 8, 9, 10 P PO: B#E% M/ Micro Backlash PO |

1 () IEEABALNREERERAT, () E3ENEEHR®RT,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. i
iE2: REEEEH AR BE PEFANNIREE, Note 2: The reducer output shaft size and length can be customized for customers.

JBE 70 &5 451 ~100-S2- i
3 MIARTMEEEREARSESFEBIETMLIAREE). Note 3: Input sizes can be subject to changed according to the brand servo motors 1%::%9. f5: PAD090-100-S2-P1/Panasonic MSMJ 08251A
—29- -30-



PAD jRiE#EBEE Rl Specification Table
[ ]
MODEL: PAD
4

1050 1700
5 22 60 160 330 650 1200 2000 BE 1 -Stage
! 7 19 50 140 300 550 1100 1800 k. 4, 5, 7, 10
10 14 40 100 230 450 900 1500
M H TTAE TN N 20 19 50 133 278 555 1050 1700
Fisted QUD U TergUo 25 22 60 160 330 650 1200 2000
2 35 19 50 140 300 550 1100 1800 Ql‘ﬁgﬁﬂ- Dimensions:
40 19 45 120 260 500 1000 1600 i
50 22 60 160 330 650 1200 2000
70 19 50 140 300 550 1100 1800 . BI\i% Input
100 14 40 100 230 450 900 1500 0 @l . 17
BAHIH S Tanor'/ Max. Output Torque Nm 1,2 4~100 3EEBEH H S1%E/3Times of Nominal Output Torque é | " 0«
#RE M\ BEZN wRated Input Speed rpm 12 4-100 5000 5000 4000 4000 3000 3000 2000 1 -
8K N BHEN /Max. Input Speed rpm 1,2 4100 10000 10000 8000 8000 6000 6000 4000
BRESHFO/ Micro Backlash PO arcmin . sl =3 = st =l s =1 =t |
2 12~100 =3 =3 =3 =3 <3 =3 =3 © o E- — a g_ B
HEAMP1 / Precision Backlash P1 arcmin 1 L =3 =3 =3 =3 =3 =3 =3 § 8 é g 8 QI g .__ - E'__ ']:|: - & §
2 20~100 <5 <5 <5 <5 <5 <5 <5 ;B g |
1 4-10 <6 <6 <6 <6 <6 <6 <6
R HEHBRP2 / Standard Backlash P2 arcmin " B4 2 g 24 g e £ e E
#1897/ Torsional Rigidity Nrm/arcmin 15 4-100 8 13 30 80 150 450 1010 t =
Bkl EMac® N 12 4~100 43 125 235 430 1300 3064 5900 = ]
B HFH 77 Faare? / Max. Axial Force N 12 4~100 990 1050 2850 2990 10590 16660 29430 B sl 8
fE A / Service Lifo hr 1,2 4-100 22000h )
1 4-10 >97% Unit:mm
' 1 4-10 0.7 i3 32 5.8 12.3 33 57.9 315 100
e - 2 20~100 1 15 4.1 76 16.8 38 7256 a8 = 5 = L L 1L
{ IR / Operating Temperature 5 2 4~100 (-15% ~ +90T) ;1; g: 15:08 :lg : :g Ezg :2322
MR/Lubrication b ki £ A RARIREE (Synthetic Grease) <11/<12 11(8 ~ 14) 19(14 ~ 22) 24(22 - 28) 24(24 ~ 48) 35(35 ~ 48) 48(48 ~ 55)
B5#% 4L / Protection Class 1,2 4-~100 IP65 [ D6 | 30 30(30 ~ 50) 50(50 ~ 110) 110 110(110 ~ 114.3) 114.3(114.3 ~ 200) 200
247715 / Mounting Position 1,2 4~100 fE& 7718 (Any Direction) 20 315 50 63 80 125 140
I {(n1=3000rpm, 4 &%)/ Noise Level dB(A) 1,2 4-100 <56 <58 <60 <63 <65 <67 <70 “ 67 79 109 135 168 233 280
[ Do | 23 D5xRES DOXIRET DEXRHET DOXIRET D10XRE10 D12xRE10
[ Do | 4-M3 7-M5XiREES8 8-MEXEE12  11-MEXEE12 11-M8XRE17  11-M10XEE20  12-M16xEE25
NE g = i 8-03.4 8-04.5 8-05.5 8-05.5 12-06.6 12-09 16-@13.5
’JEJ?' ];E 1‘%@ Ej] = E/M ome nt Of I ne rtla/ 46 45(45 ~ 70) 70(70 ~ 145) 145 145(145~200)  200(200 ~ 235) 235
0.03 0.14 0.48 2.74 7.54 23.67 54.37 = - 0 re= s i e
1 5 0.03 0.13 0.47 2.71 7.42 23.29 53.27 4 7 8 10 10 18
womRn oo’ 7 0.03 0.13 0.45 262 7.14 22.48 50.97 195 195 30 29 38 50 66
L AN 10 0.03 0.13 0.44 2.57 7.03 22 51 50.56 4 8 12 13 12 16 20
2 20-40 0.03 0.03 0.13 0.47 271 7.42 23.29 s i B 10 b8 il i
50100 0.03 008 015 044 057 203 2251 30 28(28 ~ 34) 32(32 -~ 59) 60 73(73 ~ 115) 88(88 ~ 117) 1195
70 80.5 ~ 87 97(97 ~ 120) 142 159(159 ~201)  196(196 ~ 229) 255
1. H KRR LE (i=Nin/Nout) 2.5 K#H /15 T2B=60% of T2NOT 48 60(40 ~ 60) 90(60 ~ 130) 130 130(130~180)  180(180 ~ 220) 220
3. Bt 100rpmis, EAFHRIMEMAE, “ERES, EA{FSHR15000hrs, () IR ESEERST, () BRI BIERRS,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
1. B KREUEEE (I=Nin/Nout) 2. & Kl /158 T2B=60% of T2NOT 2. EEEH MR EE PES K NIRE, Note 2: The reducer output shaft size and length can be customized for customers.
3. When output speed is 100rpm, acting on the output shaft center position, *Continuous operation, service life is 15000hrs, #3: BARTRIESRISAREEN S EEER AR EH, Note 3: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

31—

—32_



MODEL: PAD

& Ey 2-Stage

i®EE: 20, 25, 28, 35, 40, 50, 70, 100

M2 R =T [E Dimensions:

L8

L4

@06

o AU o3 B L7
8
= L6
l —
|
e © N eI ]
= = = =1
|
|
}
! % B
o
8 _lsl,
o W 20 315
28 40 63 80
47 64 90 110
72 86 118 145
<11/<12 11(8~ 14) 19(14 - 22) 19(22 ~ 28)
| Ds | 30 30(30 ~ 50) 50(50~110)  70(70~110)
20 315 50 63
| D8 | 67 79 109 135
| Do | @3 D5XIRES D6xiRET DOXRET
4-M3 7-M5xRES  B-MExRE12  11-MExiFE12
8-03.4 8-04.5 8-05.5 8-05.5
D12 46 45(45 ~ 70) 70(70~145)  90(90 ~ 145)
M4 M4 ~ M5 M5 ~ M8 M6 ~ M8
19.5 19.5 30 29
3.5 4-5 5~10 6~10
30 28(28 ~ 34) 34(34 ~ 59) 43(43 ~ 60)
97.5 103(103~110)  123(123~139)  150(150 ~ 176)
48 60(40 ~ 60) 90(60~130)  90(90 ~ 130)
E1 () ERANBTEEEERST, () FWINEEERT,

2. HUERE H A LR & PE IR,

3 MARSHRE & AR SIESSE RiEw IR TEE,

-33-

100
140
179
19(19 ~ 38)
70(70 ~ 114.3)
80
168
D8R EET
11-MBXIERE17
12-06.6
90(90 ~ 200)
M5 ~ M12
6
145
10
38
12
6-8
65(65 ~ 85)
195(195 ~ 211)
90(90 ~ 180)

160
200
247
35(24 ~ 48)
110(110 ~ 200)
125
233
D10xFEE10
11-M10xFE & 20
12-@9
145(145 -~ 235)
M8 - M12
8
15
12
50
16
6~10
73(73 ~ 117)
292(292 ~ 336)
180(130 ~ 220)

Unit:mm

10-L2 PAD140-L2 PAD200-L2 PAD255-L2
40 50 80 100

180

255

300
38(38 ~ 55)

114.3(114.3 ~ 200)

140
280
D12xFRE10
12-M16xRE25
16-013.5
200(200 ~ 235)
M12
12
20
18
66
20
6~10
73(73 ~ 117)
306(306 ~ 322)
180(180 ~ 220)

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

Note 2: The reducer output shaft size and length can be customized for customers.

or stepper motors sizes.

Note 3: Input sizes can be subject to changed according to the brand servo motors

MODEL: PAD

#6) 1 it R ~T B Dimensions:

PADO47
di%/ OUTPUT

PAD110
iR/ OUTPUT

PAD255
Hihim / OUTPUT

K/ OUTPUT §15%/ OUTPUT

% / OUTPUT Hidum / OUTPUT

_24-



PRECISION PLANETARY REDUCERS PADR HIZIHEAEK_Specifcation Table
e e £ 3 v
e 2517 22 SR R T

133 1050 1700
1 5 22 60 160 330 650 1200 2000
7 19 50 140 300 550 1100 1800
1 &esp 10 14 40 100 230 450 9200 1500
HEXEEESEREREA2ER, DENREVTER 20 19 S0 133 278 555 1050 1700
Q0EEM, Mid TRESH, MRt Nm 25 22 60 160 330 650 1200 2000
= = Rated Qutput T
LB, SHE Fee PP O 35 19 50 140 300 550 1100 1800
Zx =h—
fE PR RS BR, AKIRE T BIMRE, 5 40 r r AT T T
%ﬁ’%ﬁ ﬁ.ﬁ%{{; g; . 50 22 60 160 330 650 1200 2000
5
T B 70 19 50 140 300 550 1100 1800
T AE B I R
ﬁﬁ% EARE. ASSBAEEEE, FULEBERR. 100 g i [ i i — a2
5 iBEFAE £ KM 56 Tonor'/ Max.Output Torque Nm 1.2 4~100 3{S4EEHIH F145/3Times of Nominal Output Torque
EEREGHNETERERE, REEEFEE, 87EH \T5i2N wRated Input Speed rpm 2 4~100 5000 5000 4000 4000 3000 3000 2000
AW N ZN /Max.Input Speed rpm 1,2 4~100 10000 10000 8000 8000 6000 6000 4000
1.5pace — saving _ 1 4~10 <1 <1 <1 <1 <1 <1 <1
Right angle reducer using spiral bevel gear B EE BPO/Micro Backlash PO arcmin P 5 2 e g i e 5
Costomer can locate the motor at 90 degree away & <140 = - = - = - -
from the reducer if required to save space. . 1 4-10 <3 <3 <3 <3 <3 =3 <3
i i #5% % PP 1/Precision Backlash P1 arcmin
2. High rigidity & forque 2 20~100 <5 <5 <5 <5 <5 <5 <5
High rigidity & high torque was achived by uncaged P 1 4-10 <6 <6 <6 <6 <86 <6 =8
A iP2/Standard Backlash P2 arcmin
needle roller bearmgs.. ' 2 20~100 <8 <8 <8 <8 <8 <8 <8
AR FURING COnnEeter BRI Torsional Rigcty Nmarcmin 12 4100 8 13 30 80 150 450 1010
Can be attached to any motor all over the world.
4.No grease leakage BAE 58 A Neks” N 12 4~100 43 125 235 430 1300 3064 5900
Perfect solution by high viscosity anti-separation HeR et N lbees N 1.2 4~100 990 1050 2850 2990 10590 16660 29430
grease. {E FAE&i/Service Life hr 1,2 4-100 29000h
5.Maintenance—free - . 1 4-10 =97%
No need to replace the grease for the life time. %% n /Efficiency % . 20-100 o
Can be attached in any position. s
) 1 4-10 0.7 1.3 3.2 5.8 12.3 33 57.9
HE/Weight kg
RO \EE J71] 5 ; 2 20~100 1 1.5 4.1 7.6 16.8 38 72.6
A
IR A2 B /Indication of Model Numbers P Opng Temmee 5 T S
. & /Lubrication T2 4~100 24 MR A (Synthetic Grease)
PA D R % EIJ/PA D R Se rl eS B2 45 Protection Class i1 4~100 P65
22475 [7/Mounting Position 1,2 4~100 fEEF 8 (Any Direction)
12 {E(n1=3000rpm, #E &) Noise Level dB(A) 12 4~100 <58 <59 =62 =65 <68 =69 <70

I
I
I
I
I
=

Hﬁii@lﬁﬁﬁﬂ’ﬁﬁwoment of Inertia/

Ejﬁﬂﬁi‘“

3 REE#E A/ Type i ' Output Shaft Keyway || ' BiZ&%E/Motor Type | 0.03 0.14 0.48 2.74 7.54 23.67 54,37
| PADR047, PADRO064, PADRO090, R S1: Wiwh, Sl L ; BE i o 7 B TS } 1 5 0.03 0.13 0.47 2.71 742 23.29 53.27
- PADR110, PADR140, PADR200, . (SOllngUT%!gQaﬁg?ﬁ Iﬁyway)i TR AL R s 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
' PADR255 Lo WG e 21 1 Moment of Inertia 4 10 0.03 0.13 0.44 257 7.03 22,51 50.56
1 } Standard (Keyway) P ! : : : : : : .

************************************** | T LIRSS, ; i s 2 20-40 0.03 0.03 0.13 047 2.7 7.42 23.29
N b . . S = i 50-100 0.03 0.03 0.13 0.44 257 7.03 22,51

3% Lk /Ratio

PO =i /Micro Backlash PO
. #5%E[E/Precision Backlash P1
P2 fE2#¥5 [48/Standard Backlash P2

BAVEH]. PADR090-100-S2-P1/Panasonic MSMJ 082S1A
Model Example: PADR090-100-S2-P1/Panasonic MSMJ 082S1A

&P Z 4R Backlash Class

& 4j/ 2-stage: 12, 15, 16, 20, 25, 28, 30, 35,
40, 50, 70, 80, 100

3. B HEEE100rpmEF, {ERFHMIMERME, "E4EEEASHR15000hrs,

1. Ratio (i=Nin/Nout) 2. £ K#iH 514 T2B=60% of T2NOT
3. When output speed is 100rpm, acting on the output shaft center position *Continuous operation, service life is 15000hrs,,

i ﬁﬁﬁ’l —Stage: 3’ 4' 5, 6, 7’ 8, 9' 10 E 3 1.Ff§jiiﬁ_it|.’.(i=Nin/NOUt)o 2%*@]&13‘]5@T2B=60"& Of T2NOTD

-35— -36-



MODEL: PADR

B i 1-Stage
i#®Ek: 3, 4, 5, 7, 10

SMEZ R ~F[E Dimensions:

oc1

Li2
1
LL10G L11 - ‘
\
L7 gl L9 1
| i
1 i A |
[se]
0O,
T |
© S
= £ © o=
58 23 HHHH-—18—+
& & § g ® S ’
S 9
o
a }
:
{ i _a N E | = S t =
‘ o
6 o T

L3

L2

L1

Unit:mm

| & Leoroo Lowomee [ eomonis Lo [ onvoi | momion | oo
<11/<12 11(11~14) 19(19 ~ 24) 24(22 - 32) 2(24 ~ 35) <48 <55
30 50 70(70~110)  110(110~130) 110(11o~114.3) 85 116
46 70 90(90~145)  145(145~165)  145(145~200) 215 235
M4 M4 M8 M8 ~ M10 M8 ~ M12 M12 M12
12 20 315 40 50 80 100
[ D6 | 28 40 63 80 100 160 180
47 64 90 110 140 200 255
[ D8 ] 72 86 118 145 179 247 300
[ D9 | 20 315 50 63 80 125 140
4-M3 7-M5xREE8 8-MEXRE12  11-M6xIRM12  11-MBXRE17  11-M1OXRE20 12-M16xR 25
67 79 109 135 168 233 280

D12 8-@3.4 8-@4.5 8-05.5 8-@5.5 12-06.6 12-09 16-013.5
@3 DExREB DOxRET DEXRET DBXIRET D1OXREE10 D12xRE10
35 5 12 10 8 6 6
8 10 13 19 17 20 24
30 a2 42 -47 57~ 60 67~77 85 116
74 80.5 107 ~ 112 134~ 147.5 166.5 ~ 167 2135 2685
104 1155 152~ 157 195 ~ 208.5 21752415 316 398.5
6.5 8 12 13 12 225 305
3 : : 6 6 : 12
7 7 10 11 15 15 20
4 4 7 8 10 12 18
19.5 195 25 29 38 50 66
60 71 102 130 1425 189 216
107.5 1255 172 220 255.5 334.5 392
48 60 90(90 ~ 130) 130~ 160 130(130 ~ 220) 190 220

—37—

MODEL: PADR

5 2-Stage
¥ELE: 15, 20, 25, 30, 35, 40, 50, 70, 100

M2 R <t [El Dimensions:

- L12 g P LTS

L10 L1

L7 LBl LB |

]
T
I

D13
YIS

@Dp8s
@011
@D7h6
@D6h6

S o)
@D5H7

‘ ‘om
1 s

D12

L6

L3

_ a

L2

LS

L4

L1

Unit:mm
| L3 [ roonor-io | roonusiio | oroseaa | paomvio-tz | paomaiz | rroreooia | paorass-tz-
=11/=12 11(11 ~14) 19(19 ~ 24) 24(22 - 32) 32(24 ~ 35) <48 <55
30 50 70(70~110)  110(110~130) 110(110~114.3) 85 116
46 70 90(90 ~145)  145(145~165)  145(145 ~200) 215 235
M4 M4 M8 M8 ~ M10 M8 ~ M12 M12 M12
12 20 315 40 50 80 100
[ D6 | 28 40 63 80 100 160 180
47 64 90 110 140 200 255
| Ds | 72 86 118 145 179 247 300
| D9 | 20 315 50 63 80 125 140

4-M3 7-M5xiREE  B-MExEM12  11-MexEE12 11-M8x®E17 11-M1OxiEE20 12-M16xiRE25
67 79 109 135 168 233 280
8-03.4 8-04.5 8-@5.5 8-@5.5 12-06.6 12-@9 16-©13.5
D13 @3 @5xH E8 OBxHRET OBxRET OBxRET O10xHRE10 @12xRE10
3.5 5 12 10 8 6 6
8 10 13 19 17 20 24
30 32 42~ 47 57 ~ 60 67 ~77 85 116
74 80.5 107~ 112 134 ~147.5 166.5 ~ 167 2135 268.5
103 1155 152 ~ 157 195-2085  217.5-2415 269.5 340
4 8 12 13 12 225 305
3 3 6 6 6 8 12
7 7 10 11 15 15 20
4 4 r: 8 10 12 18
19.5 195 30 29 38 50 66
79 945 117 163.5 187 243 270
122 149 187 253.5 300 382 403
48 60 90(90 ~ 130) 130 ~ 160 130(130 ~ 220) 190 220

-38-



MODEL: PADR PRECISION PLANETARY REDUCERS
e 25 17 28 Sl R ik

& H 3% R ~F @ Dimensions:

PADRO047 PADRO64 PADRO090
4%/ OUTPUT %/ OUTPUT i 4%/ OUTPUT

SITEBRENHE —RNIBHRAR ATHA AR
MRIBEM.
Integrated design of planet carrier and output
shaft ensures the maximun torque stiffness and
stability.

oHREREN BESHERE, BEERRER
(BRI, RERENHZEMEmET.
Electroless Nlickel deposition treatment and
black anodizing treatment are employed to
gear box surface and motar adapter module
respectively.the tolerance to the environment
and resistant to corrosion are enhanced.

PADR110 PADR140 PADR200
i tH s/ OUTPUT s/ OUTPUT WHiEs / OUTPUT ® F{KAI I F2REFE low backlash
4 @ BRE(95%)high efficiency (95%)

@44 MiF life time lubrication

IR A2 2 /Indication of Model Numbers

PAF Z3%I/PAF Series

Hidim / OUTPUT

_______________________________

e T ] b ' .
| IR R Type Output Shaft Keyway FSIEEL R/ Motor Type
. S1: Hdh, HEE

PAF042, PAF060, PAF090, PAF120 ; ! | (Solid Output Shaft No Keyway) | !

i Motor manufacturer and model
Standard (Keyway)

S3: WHEFL

| BIEHER RS
Output for holes i

E PAF150, PAF180, PAF220 i .: :r So: EER, G E E

1 8L Ek/Ratio : & PHE 4 /Backlash Class
| 84/ 1-stage: 3, 4, 5, 6, 7, 8, 9, 10 : PO: &1E% & i/Micro Backlash PO

P1: #&% &M% /Precision Backlash P1
/ 2-stage: 12, 15, 16, 20, 25, 28, 30, 35, .
, 48 < 40. 50. 70. 80. 100 P2. #Z#75[2/Standard Backlash P2

BEAVEEB]: PAFO90-100-S2-P1/Panasonic MSMJ 082S1A
Model Example: PAF090-100-S2-P1/Panasonic MSMJ 082S51A
-39-

— A




PAF B iR EREE R} Specification Table
MODEL: PAF
3

1550
4 17 48 155 300 550 1280 2160
5 17 48 158 310 530 1250 2100 BE 1 —Stage
1 6 12 42 120 240 410 980 1350 #Ltk. 3, 4, 5,6, 7, 8,9, 10
7 13 47 143 290 500 1030 1580
8 12 39 108 230 420 880 1260
9 10 38 100 220 410 880 1450
10 12 42 120 260 475 950 1530 A - : - :
12 15 48 155 300 530 1100 1750 91 ﬁ/R_'l- Dimensions:
Wi 77 48T Nm 15 15 48 150 280 520 1050 1650 #j % Output "
[FEIES ST nT s 16 17 47 158 300 530 1200 2050 L N
20 17 48 155 300 530 1200 2050 —
25 17 47 158 310 520 1200 2000 e & =
28 16 46 150 300 520 1100 1850 L1 ]
2 30 15 46 145 280 500 1050 1600 !
35 16 46 155 290 500 1020 1500 Iﬂ [®)
40 17 46 150 290 410 1100 1350 g £ = ___g - Jd— 8 3
50 15 45 145 290 490 1000 1300 g8 8 ._ S 9
70 13 45 140 280 490 1000 1200 & &
80 10 38 110 230 410 960 980 L
100 10 39 120 260 450 950 1100
£ K #iH74E Tenor'/ Max.Output Torque Nm 1,2 3-100 3EZEE I H F148/3Times of Nominal Output Torque -
A ENWRated Input Speed rpm 1.2 3-100 3000 3000 3000 3000 2500 2000 2000
oK\ HEN: o/ Max. Input Speed rpm 12 3-100 600D 6000 6000 5500 4500 4500 4000 =
ekl » . 1 3-10 =5 =5 <5 =5 <5 =5 <5 a
1/ Precision Backlash P1 arcmin o 12-100 <7 <7 =7 <7 <7 <7 <7
R PAP2 / Standard Backlash P2 arcmin . e = =5 e e =3 =i = WSt w2 LS Unit:mm
2 12-100 <10 <10 <10 <10 <10 <10 <10
$eRFE /)F2e’ / Max Radial Force N 1,2 3~100 750 1130 3000 6700 9150 14500 48500 _
ERMIB 1 Foarc® / Max Axial Force N 12 3-100 310 600 1500 3220 4550 7100 24000 g5 o 50 10 e s 158
BN S hr & = 2:00?'1 8(<11) 14(<14) 19(=24) 24 ( <32) 35(<42) 38(<50) 55(<55)
Y5 n /Efficiency % ; 1:::30 ;g:,: 30(30~50)  50(30 ~70) 70(50~110) 110 (50~130)  130(95~180)  180(95~180)  200(180 ~ 250)
: | b5 |
W8/ Weight kg ! S =S ¥ 2 78 19 2 % D5 4-204 2 4;05 5 41_(27 41-3;:9 42?1 41513 4:51[:7
2 12-100 0.8 1.39 3.9 956 18.9 35 66 : :
{8 PR / Operating Temperature o 1.2 3~100 (-15T ~ +90T) 46(22~70)  70(45 ~90) 90(70 ~ 145) 145 (70~ 145)  145(00~215)  200(145~300)  235(200 ~ 300)
R 12 3-100 2 B3 A (Synthetic Grease) [ b8 | M3 ~ M5 M3 ~ M6 M4 ~ M10 M6 ~ M10 M8 ~ M13 M10 ~M13 M10 ~M13
B4 { Protection Class 1.2 3~100 IPB5 [ Do | M4 % 0.7P M5 x 0.8P M6 x 1.0P M8 x 1.25P Mi2x1.75P M12x 1.75P M20 x 2.5P
%4751  Mounting Position 12 3-100 #3577 () (Any Direction) 20 28 36 50 74 82 105
BWEE(n1-3000rpm, AR NoiseLevel  dB(A) 1,2 3-100 <63 <63 <63 <65 <65 <67 <70 55 7 10 12 15 20 30
. ) 7 8 9 12 15 16 20
;ﬁkjf:ﬁ%$$§j]’§§'/|vloment of Inertia/ 27 36 475 65 92 106 138
Model No Unit Siege Ha,,o 26 32(30 ~ 42) 45(25 ~ 60) 65 ( 50 ~ 80) 84(50 ~ 90) 105(50~ 130)  105(60 ~ 130)
0.03 0.16 0.61 3.25 9.21 28.98 69.61 56 79 945 126.8 155.8 177 279
4 0.03 0.14 0.48 2.74 7.54 23.67 54.37 83 115 142 191.8 247.8 283 417
5 0.03 0.13 0.47 2.71 7.42 23.29 53.27 P, gn iy Fai JEG e e
1 : e S i 22 =3 AL 2L 42(42-70)  62(62 ~90) 90(90 ~165) 120 (115~130) 150(142~200)  182(182 ~ 220) 220
SEhiEEN 2 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
Moment of Inertia. 9™ 8 0.03 0.13 0.44 2.58 7.07 2259 50.84 3 3 5 5 5 6 7
9 0.03 0.13 0.44 257 7.04 2253 50.63 15 20 25 40 60 70 90
10 0.03 0.13 0.4 2.57 7.03 22.51 50.56 e 18 245 a5 4 50 79.5
12-40 0.03 0.03 013 0.47 217 7.42 23.29
- 50-100 0.03 0.03 0.13 0.44 257 7.03 22,51 I 5 5 8 L L L =0
1. BASNEALET2B=60% of T2NOT 2. 8 HEE100rpmES, 1EFE T8 IS, 1 () WABLEERERST, () FBWINBEERT,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
3. SEARBEILAE LR, SEnERMARE, EEARBEEMEEAS, 2. R A LR ' ARSI KR Note 2: The reducer output shaft size and length can be customized for customers.
1. The Max. acceleration torque T2B=60% 2. When output speed is 100rpm, acting on the output shaft center position 3 BiARTRIES RARERSEN S EBETILEE8,  Note 3: Input sizes can be subject to changed according to the brand servo motors
3. 3-stage big ratios are not in the above table. There is shaft lengthening and enlarging design. Please tell sales person if you need it. or stepper motors sizes.

41— —42-



PRECISION PLANETARY REDUCERS
i 25 17 22 SR SR I

MODEL: PAF

[y 2-Stage
#kk: 12, 15, 16, 20, 25, 28, 30, 35, 40,
50, 70, 80, 100

1.58E

HEEE T35, EAHERE.

2.5, FHE

{ERERETFHR, AAESTHIMMMEE,

SEEREE

iiﬂlﬁmﬁﬁﬁﬁ‘ﬁﬁﬁﬁ EESAHNEE

AMEZ R ~F B Dimensions:

. La L7 o ﬁfui‘fﬁﬂ'lﬂ'ﬁiﬁﬂ—%%ii_to
. Lo L3 L5 5. JEE e T
= ‘ﬁ\ ERSHE. TE5LBNEREE, FabBEEtRE,
L 6. TTE

aEMEGHNETERMERE, REBEER.

1.High precision
Standard backlash is 3 arc—min, ideal for precision control
2.High rigidity & torque
High rigidity & high torque were achived by uncaged
needle roller bearings.

3.High load capacity
Adopting taper roller bearing for the main output shaft
to increase radial and axial load.

4. Adapter—bushing connection

=
2

i
@D2h6
@D1h6

!

1

1

I
203
D4

D9 D9

Y
#S1  |[@Dins B S2 ‘_ s3

. Can be attached to any motor all over the world.
Unit:mm
5.No grease leakage _ _
_ grease.
6.Maintenance—free
d = o e 12 i R No need to replace the grease for the life of the unit.
8(=11) 14(<14) 19(<24) 24(=832) 35(=42) 38(=50) 55(=55) Can be attached in any position.
B :0(0-50) 50(30 ~ 70) 70(50 ~ 110) 110(50 ~130)  130(95~180)  180(95~180)  200(180 ~ 250)
50 70 100 130 165 215 250 \J:JZ : 1;%% Hl] ‘BB JFFI) - :
O he =
oA PP - B e B 12 2Y/Indication of Model Numbers
46(22 ~ 70) 70(45-90)  90(70~145)  145(70~145)  145(90~215)  200(145~300)  235(200 ~ 300) .
B v M3 ~ M6 M4 ~ M10 M6 ~ M10 M8 ~ M13 M10~M13 M10 ~ M13 VRS %gu/VRS Series
B wexorr M5 x 0.8P M6 x 1.0P MBx125P MI2x1.75P  MI12x175P  M20x25P
20 28 36 50 4 82 10
: : G - O - N - G
55 7 10 12 15 20 30 : : . :
7 8 9 12 15 16 20 i hmmn e : E - i
27 36 475 65 92 106 138 SR, E B P o < RN\ \N—— T TITIIL ,
42-7) 5(2~10) 8(4 ~10) 10(4 ~ 10) 10(4 ~ 10) 125(4~125)  12.5(4~12.5) | AT N H s Pl e ;
'R e e Vi1 BIERISE/Motor Type !
26 32(30 ~ 42) 45(25 ~ 60) 65(50 ~ 80) 84(50 ~ 90) 105(50 ~130)  105(60 ~ 130) id yp i 11 Output Shaft Keyway | ! | = yp :
72 1115 131 175.3 2133 257 328 | VRS060, VRS075, VRS100, VRS140, | | ! S1: HDH, MR o s :
: ) ’ ’ hoot ! ¥ 2 BiEHIER R ER !
99 147.5 178.5 2403 305.3 363 466 | VRS180, VRS210, VRS240 o (Solndsgutp#g%aﬂg?ﬂ%yway) i | | Motor manufacturer and model !
] : I s 3 L : 1
42 62 90 120 150 180 220 i P Standard (Keyway) B :
42(42 ~ 70) 62(62 ~ 90) 90(90~165)  120(115~130) 150(142~200) 182 ( 182 ~220) v T \ % 0 e poTTTTTTTTTTTT P TTTTTTT e
3 3 5 5 5 6 7 LR e R T P EP PR R s B CE P LR G e e R LR PR
15 20 25 40 60 70 % | % bb/Ratio P %A% Backlash Class 5
15 18 24.5 35 43 50 79.5 : v . oo ;
| B4/ 1-stage: 3, 4, 5, 6, 7, 8, 9, 10 » FOS MR E W Micio Bacilaeh RO .
B 5 B 10 2 e o | &4/ 1-stage: 15, 16, 20, 25, 28, 30, 35, 40, | ! A Eﬁgﬁj o St 1 5
() EEABTMRESERT, () ESMNEZH®RST,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes. E 50, 70, 100 i E & ek E
2. EEE AT B E AES A NIRRT, Note 2: The reducer output shaft size and length can be customized for customers. < '; s LimEeoan ol SRl m=oas e e aE e e S s
i3 BARTRIES SMERSES S ESET AR EE.  Note 3: Input sizes can be subject to changed according to the brand servo motors 1%54%&15‘] : VRS180-100-S2-P1/Panasonic MSMJ 082S1A
or stepper motors sizes. Model Example: VRS180-100-S2-P1/Panasonic MSMJ 082S51A

-43- —44-



VRS FiE# e E Rl Specification Table

MODEL: VRS

B 1-Stage
iEtk: 3, 4, 5,6, 7,8, 9, 10

SpMEZ R <T@ Dimensions:
B 5% Output

L8

3 1140 1500
4 50 140 290 542 1050 1700 2500
b 60 160 330 650 1200 2000 2500
1 6 55 150 310 600 1100 1900 2260
7 50 140 300 550 1100 1800 2300
8 45 120 260 500 1000 1600 2100
9 40 100 230 450 900 1500 1800
10 40 100 230 450 900 1500 1800
15 55 130 208 342 588 1140 2300
FTE M R Ton s 16 55 130 208 342 588 1140 2300
Ratod Output Tarus 20 50 140 290 542 1050 1700 2500
25 60 160 330 650 1200 2000 2500
28 60 160 330 650 1200 2000 2500
30 55 150 310 600 1100 1900 2300
2 35 50 140 300 550 1100 1800 2200
40 45 120 260 500 1000 1600 2350
50 60 160 330 650 1200 2000 2200
70 50 140 300 550 1100 1800 2200
100 40 100 230 450 900 1500 1800
£ K HAIE Tanor'/ Max.Output Torque Nm 1,2 3~100 3EEEE 8 1 F156/3Times of Nominal Output Torque
FATE W ATEN W Rated Input Speed pm 1,2 3~100 5000 4000 4000 3000 3000 2000 1000
kB %N s/Max.Input Speed rpm 1,2 3~100 10000 8000 8000 6000 6000 4000 2500
1 3~10 =1 =1 =1 =1 =1 =1 =1
BB PO / Micro Backlash PO arcmin 5 12-100 <1 <3 <3 <5 <3 =y <5
1 3~10 <3 =3 =3 <3 =3 =3 =3
FEZEWFP1 / Precision Backlash P1 arcmin 2 15-100 = = e = = <5 =
H It/ Torsional Rigidity Nm/arcmin i 3~100 7 14 25 50 145 225 260
A #1215 1 F2s® / Max.Radial Force N 1,2 3~100 2750 4100 6400 9880 15000 20000 27500
B el () 71 F2a10” / Max. Axial Force N 1,2 3~100 2350 3200 5360 9690 14200 28000 30000
5 FAE 4 / Service Life hr 1.2 3~100 20000h
1 3-10 =96%
R EE n [Efficiency % o 15-100 =03%
1 3~10 1.8 3.8 2 16.8 32 49 65
A kg 2 15-100 2.1 4.1 8.1 17.5 35 53 70
{# FIiR A / Operating Temperature B 12 3~100 (-15T ~ +90T)
i@ /Lubrication 1.2 3~100 S &AL il IS (Synthetic Grease)
Bis#% 4R / Protection Class 1,2 3~100 IP65
Z#EF5 [ / Mounting Position 1,2 3~100 fEE A 8 (Any Direction)
I8 E{H(n1=3000rpm, A Noise Level dB(A) 1.2 3~100 =62 =62 =65 =68 =68 =70 =70

AR EE) S
Model No Unit

=/Moment of Inertia/

R VRS060 VRS075 VRS100 VRS140 VRS180 VRS210 VRS240
Stage Ratm

0.16 0.61 3.25 9.21 28.98 69.61 82.16

4 0.14 0.48 274 7.54 23.67 54.37 75.58

5 0.13 0.47 271 7.42 23.29 53.27 75.29

6 0.13 0.45 265 7.25 2275 51.72 72.35

SHEEN 5 7 0.13 0.45 2.62 7.14 2248 50.97 69.13
Moment of Inertia "™ 8 0.13 0.44 258 7.07 2259 50.84 69.22
9 0.13 0.44 257 7.04 2253 50.63 66.23

10 0.13 0.44 257 7.03 22 51 50.56 66.23

15-40 0.03 013 0.47 271 7.42 23.29 48.23

- 50-100 0.03 0.13 0.44 257 7.03 22,51 45.58

o C2
a Ci L4 L7
\ I - L2 L3 —
\& = I
ks L1 |
. f g £ 183 \
& e e é é T il EmEnRE w|
\ S1 52 | /
S —
D6 i
|.L5|
s
- o
ffizets1  Lepihs et s2 53
Unit:mm
_
60 70 90 130 160 180 200
8(8 ~ 19) 14(14 ~ 24) 19(19 ~ 35) 24(24 ~ 48) 38(38 ~ 48) 48(48 ~ 55) 60
30(30 ~ 70) 50(50 ~110)  70(70~114.3)  110(110~114.3) 114.3(114.3 ~ 200) 200 220
68 85 120 165 215 250 290
[ D6 | 4-05.5 4-06.6 4-09 4-011 4-@13.5 4-@17 4-@17
46(45 ~ 90) 70(70 ~ 145) 90(90 ~ 200) 145(145~200)  200(200 ~ 235) 235 240
B ve-vs M4 ~ M8 M5 ~ M12 M8 ~ M12 M12 M12 M16
[ Do | M5 M8 M12 M16 M20 M20 M20
28 36 58 82 82 105 130
8 10 12 15 20
10 12 15 17 20
48 56 88 112 112 143 170
7.5-9 10.5~16 12~ 365 8 10 10 12
42-~435 50.5 ~ 66 62 ~ 82 69~115 83~ 117 116 55
94.5 - 96 117.5~133 139 ~ 153 170 - 216 210 ~ 244 257 295
142.5 ~ 144 173.5~189 207 ~ 247 282 ~ 328 322 ~ 356 400 465
80 75 100 140 182 215 240
40(40 ~ 80) 60(60 ~ 130) 80(80 ~ 180) 130(130~180)  180(180 ~ 220) 220 250
2 3 10 5 6 7 3
22 28 40 70 70 90 105
18 245 35 43 59 79.5 90
(e 5 6 10 12 16 20 22

1. JlE L (i=Nin/Nout) 2. & HEEE100rpmis, {EAFEEROE, 3. “E4EHE, ERE45E10000hrs,

1. Ratio (i=Nin/Nout) 2. When output speed is 100rpm, acting on the output shaft center position
3. *Continuous operation, service life is 10000hrs

—_45—

1 () ERARTESHERERT, () BWIPREERT,
2 BIEEH HE LS PER KN IIRE.
3 MARTREERIRERSES S BETF &,

Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.
pp! 46—



MODEL: VRS PRECISION PLANETARY REDUCERS

g BETE R
i#ELk: 15, 16, 20, 25, 28, 30, 35, 40,
50, 70, 100

1.8 =
EXWRERE AR fEn, SENRETER
oomE i, HiE TRESM,

2GR, HHE

fE MR R, AKIRE TEIMERELE,
3.EE S, HE

PFR

SpEZ R~ & Dimensions:

1 H 3% Output g B\ Input AT R S SE L,
L4 L7 B 4. TR AR T
0C ERAEKE. AEIENEBE, S LEEEE]R.
fgeten 213 — 5 A IE
) 2 = I EERESGHNETERMEE, REEERE,
I |
‘/ [ v/ s A e £ m | o = 1.8pace — saving
\ \ \ £/ / 8 § [ -3 R S Right angle reducer using spiral bevel gear
‘\ ® " F | Costomer can locate the motor at 90 degree away
o B il from the reducer if required to save space.
e - = 2.High rigidity & torque
= % i High rigidity & high torque was achived by uncaged
- S needle roller bearings.

3. Adapter—-bushing connection
Can be attached to any motor all over the world.

4.No grease leakage
Perfect solution by high viscosity anti-separation
grease.

5.Maintenance—-free

D9

- m]

RS Bhfsts2  [s3

240,258,288,320,384,512,600,800,1000 P2. 15 ## f5/Standard Backlash P2

Unitmm ‘¥ No need to replaqe the grease for the life time.

Rt Can be attached in any position.
| D1 |
60 70 90 130 160 180 200 ‘Fi : 1:% HI] i% FH) i i
8(8~14) 14(14 ~ 24) 19(19 ~ 28) 24(24 ~ 38) 38(24 ~ 42) 48(48 ~ 55) 48 e Jﬂ—i : :/Ind|cat|0n Of MOdeI Numbers
B :0(30-50) 50(50 ~ 110) 50(50~110)  110(110~114.3) 114.3(110 ~ 114.3) 200 220 .
68 85 120 165 215 250 290 PFR %EIJ/PFR Series
B (055 4-06.6 4-@9 4-@11 4-013.5 4-017 4-017
46(45 ~ 70) 70(70 ~ 145) 70(70 ~ 145) 145(145 ~200)  200(145 ~ 200) 235 240
B ve-vs M4 ~ M8 M5 ~ M8 M8 ~ M12 M8 ~ M12 M12 M16 PFR 080 - = “ -~ / EiZ
| D | M5 M8 Mi2 M16 M20 M20 M20 ; . ; ; !
28 36 58 82 82 105 130 S i ST, 25\ AR pr i —— A
5 6 8 10 12 15 20 . : Pl H HEhsgiE R imin !
6 7 0 12 7 - = | BEMRI Type | © | OutputShaftKeyway ||| ‘estsk/MotorType |
48 56 88 112 112 143 170 | PFR040, PFR060, PFR080, PFR120 | | | S1: B8, mihis D1 ) ;
8~9 10.5~16 12-185 6-8 6-10 10 12 | PFR160 ' | ! (Solid Output Shaft No Keyway) ' ! | BEHIER R AR %
425-435 505~ 66 61~68 69 - 81 69 ~117 116 55 : | &N S2: EitgR, HEE 1 | Motor manufacturer and model |
1165~117.5  143~158.5 172~178 210~ 222 236.5 ~ 293.5 257 346 : Lo Standard (ngav) b1
164.5~ 165.5 199~2145 260 ~ 266 322 - 334 348.5 ~ 406.5 400 516 i P Osﬁpuﬁﬂgﬁ h o:lféls D !
60 75 100 140 182 215 240 S—— e a— St O S —
40(40 ~ 65) 60(60 ~ 130) 60(60~130)  130(130-~180)  130(130 ~ 180) 220 250 F_}_@ﬂilij_l:ls_/h_{ ------------------------- besroaccaay  peeeee—ne—aea e PR LS P AR e PR LR RTINS '
[ st | 2 3 10 5 6 7 3 K atio P s :
22 28 40 70 70 90 105 | B3/ 1-stage: 3,4,5,6,7,8,9,10 L H % Backlash Class !
18 245 35 43 59 79.5 90 | B/ 2-stage: 12,15,16,20,25,28,30,35,40,50,70,80,100 | | PO &8 % & Bi/Micro Backlash PO !
8 ] 5 6 10 12 16 20 22 | £/ 3-stage: 60,64,72,80,90,100,120,144,150,160,180,200, | | : ¥5% 5 &/Precision Backlash P1 }

1 () FEANBTIREGEERST, () B5NEBIERR~T,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

2 EEEH WAL EE PERI A MIRE, Note 2: The reducer output shaft size and length can be customized for customers. \BE F] Aot ;

i3 EIARTHE S RISRRSEN S ESETLIEMES,.  Note 3: Input sizes can be subject to changed according to the brand servo motors lg:"—ie' ﬁij : PFR080-100-S2-P1/Panasonic MSMJ 082S1A
or stepper motors sizes. Models Example: PFR080-100-S2-P1/Panasonic MSMJ 082S1A

AT -48-



PFR B EREE Rl Specification Table
3 17 28 423

112 165
4 15 38 110 146 364
1 5 14 40 108 160 423
i 13 35 105 149 358
10 12 25 100 141 293
15 17 28 112 165 423
20 15 38 110 146 364
HREHH 4B Ton
Rated Otput Torque Nm 25 14 40 108 160 423
30 13 28 112 165 423
2 35 13 35 105 149 358
40 12 38 110 146 364
50 14 40 108 160 423
70 13 35 105 149 358
100 12 25 100 141 293
A 148 Tanor '/ Max.Output Torque Nm {5 3~100 S{EEEEHI H H14E/3Times of Nominal Qutput Torque
FEFE S A\ =N w/Rated Input Speed pm 1.2 3~100 3000 3000 3000 3000 2500
& KB A BENe/Max.Input Speed rpm 1,2 3~100 5000 5000 5000 5000 3600
_ 1 3-10 <8 <8 <8 <8 <8
TP / Precision Backlash P1 arcmin 5 T S T i =T 240
1 3~10 =11 =1 =11 =11 =11
HEMEYSBIP2 / Standard Backlash P2 arcmin 3 4500 ey 545 e s e
HE B/ Torsional Rigidity Nm/arcmin 1,2 3~100 3 6 12 22 50
BEF{E 1 /1 F2e” / Max.Radial Force N 1,2 3~100 320 460 1300 3200 6520
B S Fears® / Max.Axial Force N 2 3~100 160 230 660 1600 3260
1 &4 / Service Life hr 1,2 3~100 20000 h
%1% n (Efficiency % L 310 =97%
2 15~100 =094%
1 3-10 0.73 0.99 2.1 4.98 18.2
A 2 2 15~100  1.05 1.46 3.2 6.92 24.9
{# MR A / Operating Temperature e 1,2 3~100 -25C~+90T
iM78/Lubrication 1.2 3~100 4 & FiH i A§ Synthetic Grease
BELER / Protection Class 1,2 3~100 IP65
#4751 / Mounting Position 1.2 3~100 E=Any
E1f(n1=3000rpm, 1)/ Noise Level dB(A) 1,2 3-100 =62 <863 =865 <67 <68

LR E) 1B &/Moment of Inertia/
3

0.16 0.63 3.48 12.84 36.72

4 0.16 0.6 3.31 12.22 34.63

1 5 0.16 0.59 3.28 12.1 34.24

i (OO (oo 7 0.16 0.59 3.27 12.05 34.07
10 0.16 0.59 3.26 12.03 34.02

2 12-40 0.16 0.59 3.26 12.03 34.02

50-100 0.16 0.59 3.26 12.03 34.02

. BKINEH4ET2B=60% of T2NOT  2.8HEE100rpmeE, 1EATHHE R OE,
EERRRELEARE LR, BMMEMNKNRE, EERAIEENHEAR,

. The Max. acceleration torque T2B=60%  2.When output speed is 100rpm, acting on the output shaft center position
. 3-stage big ratios are not in the above table. There is shaft lengthening and enlarging design. Please tell sales person if you need it.

W= W=

—49-

MODEL: PFR

B Eg 1-Stage

iﬂ_i.l:l.'. 3; 4! 59 6'1 7! 8! 9; 10: 14’ 20

42 R~ B Dimensions:
B H 3w Output

())ﬁ
n‘ﬁ{;rn

A S

i
ol

Size

O|10|0|10|0
| =

o

28 28 (9]

S N [l ol £t |l ol el el 5

&R

K6

bihg

PFRO60-L1

¢ 14(16)
$ 50

14 ( $6.35-19)
$50 ( $30-70)
70 ( $45-90)
4-M4 ( M3-M86 )

$70
4-$55
M5X0.8P
35
a1
3
8
46
143
5(4-5)
32(32-44)
66(66-88)
60
60(60-90)
3
25
16
5
4
611
12.8
616
15
18

B N3 Input

ac2

L6
L5 ]
L2
S2 |81
5 %
=113 D5
o L4 !
ar
Bh.q— o -
al K2
=
iAs 52 [Dthe s LR s3
PFRO80-L1 PFR120-L1
$20(22) $25(32)
¢80 $110
$19( $11-24) $22 ( $16-24)
70 ( $50-110) $110 ( $55.5-110)
$90 ( ¢70-145) $ 145 ( $90-155)
4-M5 ( M4-M8 ) 4-M8 (M6-M12)
4100 $130
4-465 4-485
M8X1.25P M10X1.5P
40 55
35 49
3 4
Ao 15
55 80
190 273
8(5-8) 8(5-8)
42(42-60) 70 (59-70)
95.5(95.5-113.5) 130 (119-130)
90 120
90(90-130) 130 (120)
3 5
30 40
225 28
6 8
6 8
$22 $28
24.5 31.3
$32 $38
20 27
24 32

K4

Unit:mm
PFR160-L1
$40
¢ 130
$35( $22-38)
$114.3 ( $110-114.3)
$200 ( ¢ 145-200)
4-M12 ( M8-M12)
$185
4- ¢ 11
M16X2P
87
78
5
20
111
295
5(5-7)

86 ( 62-86 )
165.5 ( 165.5-189.5 )
160
175 (142 )

5
70
43
12
10
$38
41.3
$ 48
35
40

-50~



PRECISION PLANETARY REDUCERS
e 2 17 22 il BRI

MODEL: PFR

€ Er 2-Stage

k. 15, 20, 25, 30, 35, 40, 50, 70, 80, 100
120, 140, 160, 180, 200

1.8 55
EXREERE R R, BEnRETER
UEE M, MY TRESH,

2. G FHAE

SME2 R ~F[E Dimensions:

gl H¥m Output EREBURR, AKXIES THIMELE,
(5 - i \i% Input SEERS, WER
" AR MR FEM—EHEE,
a . . ~gfL
Esﬁ_‘ﬂ 4.%&7/?#5}@/7/% - e N o a
s = j§ ] =1 ERSHE. AEAEHEBIE, FahLEEE TR,
j 5 HETTE -
|| _ 1 0 | EESEGHANESEREEE, REEFERE.
L3 D5 \
o o L4 @ i 1.Space — saving
]/LJ\I' Right angle reducer using spiral bevel gear
~ Costomer can locate the motor at 90 degree away
from the reducer if required to save space.
B Kb 2.High rigidity & torgue
09 ] 09 - K K5 High rigidity & high torque was achived by uncaged
%L (Zzz needle roller bearings.
: o 2| . .
iAIsE 51 Dihg) A 52 [Dihe NIRRT 3 3. Adapter-bushing connection
U . t Can be attached to any motor all over the world.
nit.:mm 4.No grease leakage
R~ PFRO80-L?2 PFR120-L2 PFR160-L2 Perfect solution by high viscosity anti-separation
D1 ¢ 14(16) $20(22) $25(32) ¢ 40 grease.
D2 $50 ¢80 ¢ 110 $130 5.Maintenance—free -
614 ( $6.35-19) 619 ( ¢11-24) 622 ( $16-24) 635 ( $22-38) go need to replgc_:e the grease for the life time.
$50 ( $30-70) $70 ( $50-110) $110 ( $55.5-110) $1143 ( $110-114.3) An ke aitching Inany posign.
$70 ( $45-90) $90 ( $70-145) $145 ( $90-155) $200 ( ¢ 145-200) . .
A i " ;
| Dps | 4-M4 ( M3-M6 ) 4-M5 ( M4-M8 ) 4-M8 ( MB-M12 ) 4-M12 ( M8-M12) ,ﬁ@*ﬁ%}iﬁﬁi/lnd|cat|on Of Model Numbers
¢ 70 $ 100 $ 130 $ 185
[ D8 | 4-¢5.5 4-¢6.5 4-$8.5 4-$ 11 o
[ Do | M5X0.8P M8X1.25P M10X1.5P M16X2P P E R ?\ §]J / P E R Se rlies
35 40 55 87
a1 % 49 7 ‘
: s : : S - B - S - G
8 12 15 20 : s : :
62 78.5 110 149 e e - —————— : '"_"”-—tlz'.”l"i:é"—dg ————————— [ | pemmeeeeemeeeeee—eeaa e '
159 2135 303 333 Db Rt T =N DS I v 771] @ '
AT e i e I = /Motor Type !
5(4-6) 8(5-8) 8(5-8) 5(5-7) i BUEREUTyp i 11+ Output Shaft Keyway i1 RIERIR yp :
32(32-44) 42(42-60) 70 (59-70) 86 ( 62-86 ) : PER040, PERO60, PER080, PER120; ! ! S1: B, M 15 e : ]
66(66-88) 95.5(95.5-113.5) 130 (119-130) 165.5 ( 165.5-189.5 ) . PER160 ' | i (Solid Output Shaft No Keyway) | | JiEBSE R AR ]
50 90 120 160 i . i So. FEMD g ! 1 | Motor manufacturer and model !
60(60-90) 90(90-130) 130 (120) 175 ( 142) : P Stggc?a%&(g_g‘ay) b
3 3 5 - i : o Output for holes i i
25 30 40 70 —— . R el Ree— mmrm——— R———————
16 225 28 43 R : Do '
s 5 & 8 12 | IBLiE bb/Ratio L 5 B4 4f Backlash Class 5
4 6 8 10 i Effi/ 1-stage: 3,4,5,6,7,8,9,10 = PP ]
$11 $22 28 38 | 1/ 2-stage: 12,15,16,20,25,28,30,35,40,50,70,80,100 | ! PO: H#%E Y/ Micro Backlash PO :
B o aia s | £/ 3-stage: 60,64,72,8090,100,120,144,150,160,180,200, | P1: f&@ R /Precision Backlash P1 ;
K3 d & 5 : ' 240,258,288,320,384,512,600,800,1000 : i P2. Eﬁ =] Fﬁé/Standard Backlash P2 i
K4 $16 $32 $ 38 $ 48 CENRTTR R D S S S 1
K5 15 20 27 35 88 35, o :
= o o & g EERIEE 5] . PERO80-100-S2—-P1/Panasonic MSMJ 082S1A

I
)
—

I

Models Example: PFR080-100-S2-P1/Panasonic MSMJ 082S1A

-52-



PER B iE#&£AEE ] Specification Table
3 17 28 112 165 423

4 15 38 110 146 364
1 3] 14 40 108 160 423
7 13 35 105 149 358
10 12 25 100 141 293
15 17 28 112 165 423
S A Ton 20 15 38 110 146 364
Rated Output Torque Nem 25 14 40 108 160 423
30 13 28 112 165 423
2 35 13 35 105 149 358
40 12 38 110 146 364
50 14 40 108 160 423
70 13 35 105 149 358
100 12 25 100 141 293
EAHIH %S Tavor'/ Max.Output Torque Nm 1,2 3~100 Sf&FEE i H 5158/3Times of Nominal Qutput Torque
#RAE i N\ 1%3EN1nv/Rated Input Speed rpm 1.2 3~100 3000 3000 3000 3000 2500
B AU N\ EENs/Max.Input Speed rpm 1,2 3~100 5000 5000 5000 5000 3600
EEEHP1 / Precision Backlash P1 arcmin 1 3-10 <8 <8 <8 <8 <8
2 12~100 =10 =10 =10 =10 =10
4345 WP2 | Standard Backlash P2 aremin 1 3~10 =11 =11 =11 =11 =11
2 12~100 =13 =13 =13 =13 =13
H#8 A #ETorsional Rigidity Nm/arcmin 1.2 3~100 ] 6 12 22 50
FEFEE SF2e" / Max.Radial Force N 1,2 3~100 320 460 1300 3200 6520
BEFHIS /1F2018” / Max.Axial Force N 1,2 3~100 160 230 660 1600 3260
E A4 / Service Life hr 12 3~100 20000 h
% 1 /Efficiency % ! 8-10 i
2 15~100 =94%
BB Weight kg 1 3~-10 0.73 0.99 2.1 4.98 18.2
2 15~100 1.05 1.46 3.2 6.92 24.9
{EMIRE / Operating Temperature & 12 3~100 _25C~+90C
iMf/Lubrication 1.2 3~100 4 & FEBH BESynthetic Grease
sS4 / Protection Class 1.2 3~100 P65
Z#F @ / Mounting Position 1,2 3~100 fE=ANY
1% {l5(n1=3000rpm, #EEH)/ Noise Level dB(A) 1,2 3~100 =62 =63 =65 =67 =68

BURE B8 2/Moment of Inertia/

Rtk Hfr EiE LR b
Model No Unit Stage Ratio PER040 PER060 PER080 PER120 PER160
4

0.16 0.63 3.48 12,84 36.72

4 0.16 06 3.31 12.22 34.63

1 5 0.16 0.59 3.28 12.1 34.24

:«iﬁf:;:mema Ko 7 0.16 0.59 3.27 12.05 34.07
10 0.16 0.59 3.26 12.03 34.02

2 12-40 0.16 0.59 3.26 12.03 34.02

50-100 0.16 0.59 3.26 12.03 34.02

1. BAINE S EET2B=60% of T2NOT, 2. & HE#E100rpmEs, ERFiidtahdhiars.,
3. ZBABELAE R, AWMEMMKRE, TERIBFSNHEEAE,

1. The Max. acceleration torque T2B=60% of T2NOT 2. When output speed is 100rpm, acting on the output shaft center position.
3. 3-stage big ratios are not in the above table. There is shaft lengthening and enlarging design. Please tell sales person if you need it.

—-53-

MODEL: PER

Bk 1-Stage
i®tkk: 3, 4,5, 6, 7, 8 9, 10, 14, 20

M2 R ~F[El Dimensions:

B4 H 3% Output

A
oL

o|0|10(Q|0
N|—=

o

1

min|n |O

P P
#xx

| D6 |
| D08 |
| D9 |
| c1 |
| 8
| ke

P
(3]

Py
(o3}

L5
- > B \IH Input
YN FR | 0¢1
- 1
c§ D6 g
i E T 0 I:l
3 D5_-
HETY ~ e O [
4 | S T
wrel | | g
D4H7
Bh9 Ko
® R ) &
& g gy
AR 51 [Dhe A s2 Dihd s ATLRST 83
Unit:mm
PER060-L1 PER080-L1 PER120-L1
¢ 14(16) $20(22) $25(32) $ 40
¢ 40 $ 60 $ 80 $ 130
14 ( $6.35-19) $19 ( p11-24) 022 ( $16-24) $35 ( ¢22-38)
$50 ( $30-70) $70 ( $50-110) $110 ( $55.5-110) $114.3 ( $110-114.3)
70 ( $45-90) $90 ( $70-145) $ 145 ( $90-155) $200 ( ¢ 145-200)
4-M4 ( M3-M86 ) 4-M5 ( M4-M8 ) 4-M8 ( MB6-M12) 4-M12 ( M8-M12)
$ 52 $70 $ 100 $ 145
4-M5X10L 4-M6X12L 4-M10X20L 4-M12X24L
M5X0.8P M8X1.25P M10X1.5P M16X2P
35 40 55 87
31 35 49 80
3 3 4 5
46 55 80 111
143 190 273 295
5(4-6) 8(5-8) 8(5-8) 5(5-7)
32(32-44) 42(42-60) 70 (59-70) 86 (62-86)
66(66-88) 95.5(95.5-113.5) 130 (119-130) 165.5 ( 165.5-189.5 )
60(60-90) 90(90-130) 130 (120) 175 (142)
3 3 5 5
25 30 40 70
16 225 28 43
5 6 8 12
4 6 8 10
611 $22 $ 28 $38
12.8 245 31.3 41.3
b 16 $ 32 $ 38 b 48
15 20 27 35
18 24 32 40

~54-



MODEL: PER

E£E 2-Stage

®tk: 15, 20, 25, 30, 35, 40, 50, 70, 80, 100
120, 140, 160, 180, 200

PRECISION PLANETARY REDUCERS
ha 28 7 2 iRl
é%imgﬁmaﬁﬁﬁmﬁﬁo

VRSF
BRIRTF35. EAERE.
' 3. G, EHHE
EREREETHR, AXRESTHIEMEIE,

4.5/, BT
AMRREBHR FET—ERiE L,

4 M2 R ~F[E Dimensions:

#i i3 Output 15 o ’ 5 AT
D8 7 L AR, RESMNOEREE, SHMHLEERER.
s | st a1 6.HETTE
% . — EEREGYNESERERIE, SEEERE,
- f— F § D_é_/ O 'R

1. Quiet operation
Helical gears contribute to reduce vibration and noise.

T L3 D 2.High precision
] Jrﬂ e ==t ~ @) }g Standard backlash is 3 arc—-min, ideal for precision
]/ \( LR = control.
D3F6 - 3.High rigidity & torque
D4H7 High rigidity & high torque were achived by uncaged
BhO kb needle roller bearings.

4. Aaapter-bushing connection
Can be attached to any motor all over the world.

5.No grease leakage
Perfect solution using high viscosity anti-separation

grease.

9 Tﬁ 09 f = | KS
AR 51 Dby AR $2 %h& HHEATLRT §3 ‘éﬁ < .
Unit:mm

PERO60-L2 PERO80-L2 PER120-L2 PER160-L2

Size :
6.Maintenance—free
D1 $ 14‘:; 6) $20 (6§2) $25 222’ ‘*’1";00 No need to replace the grease for the life of the unit.
D2 L4 i $ $ Can be attached in any position.
14 ( $6.35-19) $19 ( ¢11-24) $22 ( $16-24) $35( $22-38) . ;F ]
[ b2 | $50 ( $30-70) 670 ( $50-110) $110 { $55.5-110) $114.3 ( $110-114.3) R \1% A3 1 ‘ :
$70 ( $45-90) $90 ( $70-145) $ 145 ( $90-155) $ 200 ( ¢ 145-200 ) IJ_‘J.l_ H/Jl%i/lndlcatlon Of MOdeI Numbers
| Db | 4-M4 ( M3-M6 ) 4-M5 ( M4-M8 ) 4-M8 ( M6-M12) 4-M12 ( M8-M12 ) -
¢52 470 4100 $145 VRSF %7%I/VRSF Series
| bs | 4-M5X10L 4-MBX12L 4-M10X20L 4-M12X24L
| pbg ] M5X0.8P M8X1.25P M10X1.5P M16X2P
e “ = & VRSF 080 [l = S / EE
a s 49 0 ’ | ‘ | :
3 3 ‘ . T : : :
62 78.5 110 149 ."“"": ----------------------------- T s S L“"'"""“""‘. I —— L--"-_--_,'
N . N H) B n :
54-6) 5-5) 858 5 (5-7) | RUEBEIType i1 OutputShaftKeyway ||| ‘oimtguMotorType |
32(32-44) 42(42-60) 70 (59-70) 86 (62-86 ) | VRSF060, VRSF080, VRSF100 P i S1. Eibdl, HEghE i e T i
66(66-88) 95.5(95.5-113.5) 130 (119-130) 165.5 ( 165.5-189.5 ) ' VRSF125 : ' ' (Solid Output Shaft No Keyway) ; | : Motor;;nanufacturer S
60(60-90) 90(90-130) 130 (120) 175 (142) : 3 S2: F¥m, FEE ] :
3 3 5 5 oo B Lh L Stendard(Keyway) bl
25 30 40 70 ; i
16 225 28 43 A O Y\ ' e :
|8 | 5 4 4 L | AL bk/Ratio Do B & AR Backlash Class :
4 6 8 10 ' b o !
. ! 3 PO: &#5% & BE/Micro Backlash PO !
¢ 1 $22 $28 $38 { M 3.\ 5 7, 10 = P1: #3798 /Precision Backlash P1 ;
12.8 245 31.3 413 { = 15.7a0, 20590, Beal 0k 20 705 196 - P2 M /Standard Backlash P2 E
16 32 38 48 . :
K5 15 20 27 35 . .
. e i 55 - IZERIEH) . VRSF080-100-S2-P1/Panasonic MSMJ 082S1A

Model Example: VRSF080-100-S2-P1/Panasonic MSMJ 082S51A

-55— -56-



VRSF B EsE &Rl Specification Table

MODEL: VRSF

g L HiE VB B
Mot e Stage i VRSF060 VRSF080 VRSF100 VRSF125
3 54 112 165 286
4 48 110 146 255 BEg 1-Stage
1 5 45 108 160 264 .
7 41 105 149 245 #Lk: 3, 4, 5, 7, 10
10 40 100 141 234
15 54 112 165 286
FEHIH HE TN
Nm 20 48 110 146 255 . .
Rated Output Torque 25 45 108 160 264 42 R =T & Dimensions:
30 41 112 165 286
2 35 41 105 149 245
YT
40 39 110 146 255 i HH
) H 3% Output d B Inout
50 45 108 160 264 — - I /\Xm INpu
70 41 105 149 245 s i L3 o
4 dcz2
100 40 100 141 234 / L2 L4 .
£ ki 5E Tanor!/ Max.Output Torque Nm 1,2 3~100 3f&EEE# H 715/3Times of Nominal Output Torque / <
KA BN w/Rated Input Speed rpm 1.2 3~100 3000 3000 3000 3000 /& = _[‘ : \%
KB\ BEN e/Max Input Speed rpm i 3-100 5000 5000 5000 5000 Lo/ \
1 3~10 =5 =5 =5 <5 ;! g & 0 = =
FEBAP1 / Precision Backlash P1 arcmin t - 8 B "'_/l M —~— g; g Fr—
2 12-100 <7 <7 <7 <7 , § ® = =1
W& BP2 / Standard Backlash P2 arcmin 1 3-10 <8 <8 <8 <8 st
2 12-100 <10 <10 <10 <10 -1
HFIMAI % Torsional Rigidity Nm/arcmin 1,2 3~100 5 12 14 23
R 48 INeks® N 1,2 3~100 800 1200 3200 5220 g \goz
FRFE [ 7120167 / Max.Axial Force N 12 3~100 400 600 1600 2600
{E RS / Service Life hr lie 3-100 21000 h
D9
W v /Efficiency Yo 1 3-10 =97% It
2 15-100 =94% 4 @
o kg 1 3-10 1.2 16 3.76 7.43 }
2 15~100 241 28 5.92 10.3 S |[DD1he| s Se
{& F;8 f / Operating Temperature © 1.2 3~100 -25T~+90TC
7#78/Lubrication 1,2 3-100 44 R 78 BE Synthetic Grease
BFAE%4 / Prolection Class 1,2 3-100 P65 VRSF060-L1 VRSF080-L1 VRSF100-L1 VRSF125-L1
2#:757 18 / Mounting Position 1.2 3~100 FEAny 12 19 24 32
#{i(n1=3000rpm, #E##)/ Noise Level dB(A) 1,2 3~100 <60 <62 <65 <67 50 70 90 110
8(8 ~ 14) 14(14 ~19) 19 22(22 ~ 24)
30(30 ~ 50) 50(50 ~ 70) 70 110
== i " i
B %8 &) 18 2 /Moment of Inertia/ 3 & 5 Z
o5 | s e e o
s 1o i . 45(45~70 70(70 ~ 90 90 145
ot B L Wik [45-70) (a0
: : VRSF060 VRSF080 VRSF100 VRSF125 [ b8 | M4 ~ M5 M4 ~ M5 M6 M8
Model No Unit Stage Ratio “ M4 M6 Ms M12
3 0.16 0.61 3.25 9.21 20 30 40 55
4 0.14 0.48 2.74 7.54 3 3 5 5
5 0.13 0.47 2.71 7.42 32 50 61 B
HEhiEA o 1 6 0.13 0.45 265 7.25 4 4 4 8
Momertof nerte = 7 0.13 0.45 2.62 7.14 D) 32 38 65.5
8 013 0.44 558 707 109 143.5 ~ 148.5 177 2155
9 013 0.44 257 7.04 i i 28 123
- e — - — 40(40 ~ 52) 60(60 ~ 80) 90 125(125 ~ 130)
2 12-40 0.03 0.13 0.47 2.71 i = Al 32
50-100 0.03 0.13 0.44 257 Lo =t i &
i ' | ' ' o : . E 10
b s N = = o,
1. JEE]E b (I~NIH,"N0Ut)U 2Hijc§ﬁbl] &II j] #T2B=60% of T2NOT, H1: () BEABRTRESERT, () IS RELER S, Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.

2. HuREH MR E PER MRS,
3 WMARTRIRE RILERFRIEN 5 RE R LTS,

3. WHEE100rpmir, EATREERMAE, EAER{EASTHR15000hrs,

1. Ratio(i=Nin/Nout) ~ 2.f/A#jH /13ET2B=60% of T2NOT,
3. When output revolution is 100rpm, acting on the output shaft center position, *Continuous operation, service life is 15000hrs

Note 2: The reducer output shaft size and length can be customized for customers.
Note 3: Input sizes can be subject to changed according to the brand servo motors or stepper motors sizes.

57— -58-



PRECISION PLANETARY
=R lad

ZR

MODEL: VRSF

&7 2-Stage
k. 15, 20, 25, 30, 35, 40, 50, 70, 100

42 R ~t & Dimensions:

B H 3% Output > A ERE(XEE
=1 LV oY L5 INF10FD
B\r—‘_:‘-\ L2 L4
/ ;&/ \Q | - RS AT T, —EEkERm
'y y — TSR, RRBEEMEE.
ILQ wf \ m
l. | &m |l B = __E - ::E 2 - EEEREE T, EEEEE. S,
‘\ . st | EETEE. A, BE. B, RE; 23R
X e — wEE, MRE. BRLESREER,
P . D8 \_gp7
D6 D5 b
Low Ratating Backlash
D9 D9 Less Than 10sec

on b-axis controlled machining center which
A @D1h6 . . - .

#i s : wiss2 . allows for one—piece machining in one setup
Unit:mm to assure the best geometric accuracy

VRSF060-L2 VRSF080-L2 VRSF100-L2 VRSF125-L2 o o
P 16 o 55 + The transmission gears are precision ground

[ D1 providing low rotating backlash and high

w/ - The right angle reducer is precision machined
S2

=)
=

(=)
N

50 70 90 110

accurany

11(11 ~14) 14(14 ~19) 14~ 19 22(22 ~ 24)
50 S0E0=20) ghis0-70) L - precise transmission low noise maximum
60 90 115 135 stability and smoothness
45(45 ~ 70) 70(70 ~ 90) 70~90 145
[ b8 | M4 ~ M5 M4 ~ M5 M4 ~ M5 M8 M .
— 5| e e e e 71%: Features
3 3 5 5 c AEGERE. B, BUBEREEM. - The reducer body is compactly consteucted with small volume to
32 50 61 75 ; ; ;
3 . . . . BEOAEETE\ BRI (EESSHERER save considerble installation space
32 32 38 65.5 (KSR E R, - Although the reducer is small in volume and light in weight it is
109 150 ~ 155 165~ 179 250.5
_ 3 capable of providing high torque output and low backlash
22 60 ﬁz;s 80 60 6?)8 80 125 112-255 130 Ry - inbil i i S i

=Bl e Loe - When ordering please advise the sizes of flange and shaft of your
18 22 2 52
e 2l3 &l o motor
. ‘ : : 10
1 () ERABTREGERS, () BWRIMEBERERT, Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
2 EUEMEH AMTTUEE PRSI KRG Note 2: The reducer output shaft size and length can be customized for customers.
3 MIARHMER S RIFRSIZa i BiE T L A e, Note 3: Input sizes can be subject to changed according to the brand servo motors or stepper motors sizes.

-59— -60-



RISEEE R . Model Identification

ZR— 42 HF A
| | | |

HARERRT Pk HUELE HEER
Right Angle Reducer Specifications Ratio Motor

V1:{7iR@8 PCD45M3 T1: 4305 PCD43.8,M3
V2:{5 k@8 PCD46,M4 T1:43#06 PCD43.8,M3

EAR100W AC RIIRGIE| BRER2BESERE

Inupt shaft Max-@8
AARg SiED EMotor flange @30

(| '\ \Z L[, |
4-M3TAP )\ 5 i
=T \__ PCD@46(045) ~—— 13 Model No.
42 24 aiAADescription
5 i g FRT IR KW EE (kaf.m/N.m) 1 BHE
;‘gﬂsﬁﬁﬁ o 3-&%:@#55 Allowable Max Torque i
bi: B e e P W 5B B (kgf.m/N.m) i
® o= )| 5, = ——— Breaking Torque
o Dk iy 4 W i PR R (rpm/min) 2500
P ——- g jj / Allowable Max Speed
—— 2 B (min-arc) 05
4-M5x10dp_ Bl = Backlash
a7 HEE(k) 05
Weight

RiZEzE A:Model Identification

ZR —42|S—[T] —
| |

HRREE R g IR LE HiEgEn
Right Angle Reducer Specifications Ratio Motor
9 V1:{AARD8 PCD45,M3 T1:253@5 PCD43.8,M3
12 V2:{7fR@8 PCD46,M4 | T1:2E51H@6 PCD43.8,M3
15 ZRHB100W AC FIREIE | BHIS42RFIEHiE
03088 21
@10-002 30
42 &2 ﬂ 0 56
ol i = 2 A8 s
N T Tl MAX-08" [@
B | 4| H TR Vil T
( Lo & L (1 158 N 8 :—:‘pjgg%% Nl |
o B4\ — e || o, :
)&/ mi A I °
4-M5x10dp, = ] | 4 -
PCDo46 i 4-24.3 o5 | A-MOTAL
o300 | MMEE PODadE (245)
0 78 P ———————
Allowable Max Torque 18018
" i ﬁ?z’iﬁj.JE{E(kgf.n'\!N.m) 440
: \ Breaking Torque
A zﬁﬁ;ﬁiﬁ(rgmfr:;n) 2500
o = owabie Viax spe
PCDo46 / 4-p6.5x6dpx@4.3 HE(min-arc)
4-M5x10dp S 2
E&(kg) 0.9
Weight

—B1-

ZR—60— H M
| | | |

BRBEERT peaticd IR EE HiEEE
Right Angle Reducer Specifications Ratio Motor

2 V1{AAR@14 PCD70,M4 | T1:41#@8 PCD66.67,M4
—_— V2:{fiR@14 PCD70,M5 | T2:4#@8 PCD70,M4
: )
Inupt shaft Max-@14 T3:#F1#@10 PCD70,M4

- HRHE200~400W AC {Afk | SRIE60ED T HiE

4-M5TAP, I =EnE

PCD@70 Motor flange @50
Model No.
160 ) 060 160 ZR60
. 3x4-M5x10dp i EHEAWEKELIND) | .
& J 4-M6x10 o 4-p5 AR [ 4-goxedpres2  Allowable Max Torque '
= CDo70 - L 4-M6x10dp
=== & PCD 570 7158 kgt m/N.m) 12/120
25 | 7%_ | 25 o e Breaking Torque
2 8| g - / \ FHF B (pm/min) 2500
2 3 ——= il ! : T Allowable Max Speed
(-]
»ﬁift — %t_t T i B8 (min-arc) 05
E S = ‘ e :
i 25| 84 |13r8 |% Backlash
& | 275 675 5275 | & H(kg) 12
127.5 Weight

ZR — 60S— & — B
| | | |

ERREEERT R B EE She pid)
Right Angle Reducer Specifications Ratio Motor

6 V1:{fARD14 PCD70,M4 | T1:43#E8 PCD66.67,M4

8 V2:{5ED14 PCD70,M5 | T2:45H@8 PCD70,M4

10 T3:45#@10 PCD70,M4

o ;g £ BI$200~400W AC AR | % FRIE60%) 1t i
ﬂ1ﬁ‘nz
- Ao
4-M86 x 10dp i & 2{ B B3 Inupt shaft Max-e14
(PCDO70) Y, —— o 5 Tog T1L ——
Bt | i —
: el (e ik
e O
8| 7] BY T 2 _:_—E;Ei“agﬁ .
Ha L \ ‘ 2
- 1 4-M5TAP/ [al-N ——  #sF Model No.
3x4-M5x10dp/ | @5so0s | \4-o52REEEFI 0 B PCD@70 Motor flange. [N ﬁo S
@50 A escription
R KB (kgf.m/N.m)
a14
Allowable Max Torque 4S8
1 -
_1_5_‘ Eﬁixj.]%E{E(kgf.WN.m) 12120
Breaking Torque
BT HIESHE(rpm/min) J—
H Allowable Max Speed
f.f\_____ 2 #H B (min-arc) >
Backlash
EE(kg) o
4-69x6dpxe5.2 Weight

4-M6x10dp



RISEE . Model Identification

/R —— 90

HARE# RS

Right Angle Reducer

4-M8Bx12dp
P.C.D. 2105

6
8
0
819 &
0 90
8
—
& /&,
8 [ 4
\
T

&

Specifications

A8 Inupt shaft MAX-219

|

Motor

V2:fEAk@19 PCDI0,M6

— ]
5 -
; ﬁ
{ i 1
| I W/ Lo
4-METAP
P.C.D.290 ] Bg{_
4-MBTAP i BiEOE
P.C.D.g105 Motor flangee70
090
50

~0.02

3x4-M6x10dp
4-p6 BIEAE F 7L

V1:{FRD19 PCDYOM5 | T1:#iE@D14 PCD98.4,M5

EREET50W AC FIIRGIE | BMi#EseTl it HiE

—__ZU5% Model No.

e
F— —a— 1 — & |
30 b f 30
g 3 oy 88
ik . - 1758
g & -l &
L] ﬁ’;’
o bl 5
1lE =1
44 23
37 95 Bl 37 |
178

#FADescription ZR80
BHBAEEKgmNm) | 12120
4-011x8dpxa6.8
G| AMBTAP mie 45 85 (kgf.m/N.m) 32/320
B BIESIE (rpm/min) 2500
.C.D.2105 WHikimin-aic) g
EE(kg) 3.6

RISEER]. Model Identification
ZR —120— —_—

| |

HRRE#RT Mg RIELE RiEmn
Right Angle Reducer Specifications Ratio Motor
2 V1:{afk@24 PCD145M10| T1:#7i&19 PCD98.4,M5
Va:{fik@24 PCD145M10
FHE1.1~1.5KW AC fRIFR|  SRERRS6TIL I KiE
8
&3
;ag/’
2110 %8 Model No.
224 s iption ————___
| m » % A Description
| 5 ;1_.__ r|‘|— ~ ’ Ap— B R AEHSE (kgf. m/N.m) 16/160
== PCD o145 i 4-M10TAP
=8 :___L:_L:Fl__r_‘_ T 188 7 4618 (kgf.m/N.m) 45/450
| o — é—v ’ 4B 05 (pm/min) 2500
b jrEfe-— 1
o ! 52
@ }&} e —————— ] # & (min-arc) 0.5
[ — 52 2.
2120 S E5cddis 7 Wik 8

/R —— 90S ——

|

BEARRERBERT g TR L HiEsas
Right Angle Reducer Specifications Ratio Motor
6 V1:{ffRE@19 PCDIO,M5 | T1:2##@14 PCD98.4,M5
8 V2:{7AR@19 PCDI0O,M6
10
i EZREhE750W AC ARBIZE | BEMAE86EUGIERIE
@70-888 20
@19-002
20 4-MBx12dp & - ﬁ ) e 45 A1} Inupt shaft MAX-219
— /[PCDa105) L: : _H_ H {8 _
a B r i
3 e . i /
o 8 o = s - L2 R
8 [ 3 Tl LB g
I 3! I @
| - | |
- = = F?? i 'L'll\ J; 4-MBTAP = EiEOE ~——_ 23 Model No.
3x4-M6x10dp, ‘ 7600 ‘ 4-@6. B E FTL B P.C.D.290 Motor flangea70 %j‘éHﬁDescriptic;ﬁi""""-r-r. ZR90S
a9 BRRAEEKSMNM) | 12120
|
. - B
21. ‘ B 6 B (kgf.m/N.m) 32/320
— /
HRFBIEEHE (rpm/min) 2500
| 8
P& (min-arc) 2
HE(kg) 6.5

—B3—

PCDﬂlQﬁ/\—l

\4-211x8dpx26.8

4-M8TAP

ZR —1208— A

BHARERRT
Right Angle Reducer
__ﬁO__I 4-M10
(PCD@145)
&
o T

|

g B EE EiEEA
Specifications Ratio Motor
6 V1:{7BR@24 PCD145M10 | T1:#3£19 PCD98.4,M5
8 V2:{aliR@24 PCD145,M10
10
14 £ RR%E1.1~1.5KW AC faliR F R8N it HiE
20
@110
@24
1 |
0oy o 170 N
0|10 5 o ,lLE_“ | 55 Inupt shaft Max-@24
(AL L _
5 I @ Il /T l
g 1 I -y i
i o T e
| °
nolon W T \ T
4-M8 #PADescription ———
£ ‘ gﬂlo ‘\4—@8.5:E§EE§¥L JL_ PCD@130 A
BRSO E4E (kgf.m/N.m) 16/160
176 7 5B A (kgf.m/N.m) 45/450
B RIEE#E(rpm/min) 2500
8 ||
| % B (min-arc) 2
e EB(kg) 16.5
PCM/ 'l 8-5
4-M10TAP
—64—



HOLLOW ROTARY ACTUATORS E=AGHE

- L L .'='.== ATEFESZEMNENTR, CRHITELENTRIE.
- o = T B AZKZ SRR E A .
(BHEEENFTEAR) (HEas. BEasnstEs%)
~ A | TR . IFERRS S TE ERARRE, T EALR B AR SR
Z K ® T {E¥)n] B85 E TR R A 2R R R R B 03010l T ke n#, FWUREEAHEN.
MEREAEEEE TN, RAIGESH A EE, 2 REEMAE. o L[m]
o ST (& 3 ARERIEES, H54 5 ZKR I o EA R (R, ol
o PRSEAAAl  fmiA B4R A 4 REELIRIE 5 0 ER . ™
IEHFERP=ARG, EmEREREHAE, Ay oE .
. EﬁZHTII'ETJ?ﬁﬁ%ﬁﬁfﬂ@ﬁﬁﬁﬁﬂqﬁﬁiﬂﬂlﬂ = —
@ Direct Mounting of Workpiece IR X 2 < AR
The rotating table allows for direct mouning of workpiece 5 RERDLEN: . ARETELLHHIEEN,. HHN DR §
for added convenience in workpiece loading [0 ~#rimin], EEFREILHKR
® Convenient Wiring S el ol P =iy
The rotating table is a hollow structure desige making it Nelr/minl = €24y po IRHERR N-m] =3l
convenient for elec triv wiring or piping work
Nz : %3#([r/min] F1IN]
s ', . g : ) a
® FIE DD SIEM 65 85 "1+ e
HWEBERN TR B, EREES, EREHEE g o\ e e F2 )

U5 sl Y e Bt ' I ! 2
i'%%ﬁil ﬂﬁﬂﬁg‘t"lu‘ ﬁglfﬁiﬁﬁilﬁ’ =5 fe ik 233t B4 RO 45 B AL EN: N2 <200[rminl 54, 1% mikal| <
EHE AR B A EREREER, #450.D MotorHi#i EE4 , BRTARE.

B, AW, BHEAVBCEZIREEESBZER; M .
faj s SH4N G s i
D.D Motorsft S THREM, EMER, BREMKME, 6 BRI RS
HEFERBEAERRAN—APHE, “h=ireg” IEEAETA N = (s + 4) x o x (N a
4B 37 48T (=5 £ & =
?'d_?ﬁ%‘zf%ﬁﬂi{?q:fﬁh iﬁﬁT?ﬁE.‘:E"]i‘Esﬁo i@ﬁsi Ji o RSt E M I B kg m]
mm%ﬁED.D Mi)_torl‘q‘fﬁk&. FREME S BISEATEE RS ﬁz ;ig'ﬁig[kg-m] st FuE ] Fs = F.+mXg
e ER A ES, Ni ¢ EhEsE[rmin] BEREN-m]  M=FX(L+a)
tr o fnEE ORE) AE[s]
7 EHERE. HEREARERBNSIENRFERESHIRERES R 2% a
RN, BRUZERHERHNEE. —
-60 0.01
BERET= (AHBHEN-m+IEREN-m) XRERHY 4198 i)
= (Tu+Ta) XS ZK-130 0.03
RERYSHRER1.5M L. ZK-200 0.04
; . 5 : : ZK-275 0.05
8 MINLERET ETESERE - BEFEIERNR. BREEER,

FEE4 , TEEEHFEHITHE.

ZK60-5-5A ZK100-8 ZK130-10 ZK200-10 ZK275-10
(EEMAaHSIENERSE(S2%H))
O EfBEEST-REEMBEER = 15sec ® HiZE-H SRR TR N A, RO,
=¥ 5 (Lost Motion)2min PEMEHTA L, THERERENTHEARNETE. —RilE Bl s RN IR B RUREE T W R AR, &

IR AAER ST R FIE AT A R 4t , BiL B SRR SR, TR EHE RSN T HRITEMISITR, SENETHEDREN
BANEBs TR EE. BR-HENREEEMIFEN = 15sec; FIEERERR, HFEENEBTHHNE. 7
T [ (IR B2 45 24 2min, ATARTELEITIEE SR ZEL. MZK RFETFRITHEEME, EUEERE, FURTERERE pEE ﬁg,\q

RAFERASEEERSN, ATkl & E S BRI RRT. L

EEEEREE T EEOHLAE BB
EitaiEREAmARERR, BuEHR2ME,

#%5E[N-m]

: BmizghiE FINl E
iy
REElHE mgﬁg [kHz]) FEBL[mm] m%
.. *15sec | =
E5h, R AR ERT, R AR ¢ . E S
_ 6N LT
f[Hz]l = P
f o Bk E[Hz)
N : %%3#[r/min]

bs : T anFEREL /step]

BHEFIZE[N - m]=0.001 XF XL

-65- -66—



RISEEET] . Model Number Code M2 R =T El Dimensions:

Unit:mm

ZK —— 60 R 5 5A 2K60-5-5A
| | (LLEISE & & 42HEK-2A)
EETEEAT B p:{iT bERLY A RiEER
Hollow Rotating Table  Specifications Optional Ratio Motor BE=:2kg - R
R: Ef#EmEREE V1. {ffR@8 PCD45, M3 |T1: #i£@5 PCD43.8, M3 - —'%:2;0'0'2—
F: B i s V2. {FiR@8 PCD46, M4 |T2: #iE@6 PCD43.8, M3
5A: & EBiE42H5K-2A
ZEMI00WACRIEEE  SHitcnsEhe | F )
, o LT LT
F %3k Specifications : P
EmBSE ZK60 ZKB0R \ \ \ 2_g4x'mdp - — Niy P
T EHR RBRG+ILERERHR | e B »
BFFRFEHEN.m 5 - 4-c4. 5L 1284 | - ==
TEESM 15000Hrs
SR EFERpmM 200(#& ) ZK60F-5
B - - (P FETT BT AR 3 32
EE K Earc-sec <15 <20
84 @35 002
E{E%fgarc—min <1 <1 220 42 ﬁo%o?fﬁnge @30
W = 4T Emm =<0.02 T 4 ]
|
HEF R BEmm = 53 f g
RiEEH IP40 | g 9
PSEJE%-{E o | rpm=350° 1= =60'(al‘c—min) | IZGO"(arC-SeC) ‘I"‘.\ Y""-‘I‘I l'\._. 2-@4 x 10dp pin 8 ©) ) N T?I\t;;); ;ngggt'lli].gPthe
EEREREEGRE: BEEEx3.14159+ (360° x60'x 60") ¥ H{E | Rooer \
- 4-04, 5108 T4 31 \.\Inugt shaft 28
P A 5
& ‘flL*% f.g'. *ﬁbﬂﬂ Ik AR 0 1 L L AR
45 2 88 1R 08 48 70 1 0 1 A 8 7 52 U 47 1 ZK60R-15 S S
(EfmEmER1:15) g VR
<0.02mm <0.02mm <0.02mm 13 | _{{_______-r__ A
= : | oo i | \\ i Al
' ' LU {F} $ i:e)-v‘ B
%‘ \_ d Ll ‘ : ; “25 | 25
& 5 @ Jrﬁ ] o
.\ N 11 s ‘ ‘ " mecm
[r 200mm 1 Il \ g ¥ 8 E $ 4 i | ‘g///i-‘\\ﬂ i\.dotorflnge 230
LN \ 1 ! 1 8 ® Rigﬁ?ﬂ?ﬁﬁucu E ¥ ¢ I\ :j'_)\j]m
= ! ! b b S} inipt shat 08
\ ‘.‘ ' 2—@4 x 10dp pin —_—
| | “-‘,‘I ' 6-M4 x 8dp TAP P.C.D. 927 11 | — 72 I PA‘?-E- 246
< ﬁg’?%gzoomm RS 82 Eé%flmici'nﬁng hole
= 4-M4 x 8dp TAP
IMEEEHEMEE REEMEE & 7128 715kghF SETRERS SR S R R~
F1E19mm H1E19mm S ZK605 Mk :
- e <0.02mm P.S: JRE Sensor ##&(i%H) OMRON EE-SX672

67—

—68—



BISEEER]. Model Number Code

/K —100 — R

8
|

V2
|

ZK 100

(PifiEE 4 e v] B 1TAR %< /i)

HEEER5 A AL I3 Bk BizEa EE:2.5kg
Hollow Rotating Table  Specifications Optional Ratio Motor
ARV e R ko o e
= Fgh2200~400W AC{AIAR EREhE60E 1 BiE
&K Specifications :
EEmBISR ZK100 ZK100R ZK100P
FEE T EEK (] 3 o
BEEFHEIEN.m 45
BES® 20000Hrs
RFFEEpmM 200(#2 )
I EE 8 16,24 24,32,40
B85 Earc-sec <10 =20 =60
E (L& BEarc—min <1 <1 <2
Te® = 1T Emm <0.02
HEE & E 0 Emm <0.015
REER IP40

P.S:EE®AI: 1rpm=360° 1° =60'(arc-min) 1'=60"(arc-sec)
FEREHEEERE. BMESx3.14159 + (360° x60' x 60") i BHfE

o f ek 3
EALFS BRI wonmewmmmmomps

A% T A 8 IR 1R 48 /@ & 0 s Al
=0.005mm =0.015mm

~ >
f
E ||

BEREEFTE

=0.02mm

» ©
“

L 300mm |

| ]

| | q
\ FIEEE300mm
IMEEEBEMBE REEMBE e F1E 77110kglF
Fm50mm F{E50mm BZK1005ME
<1min <10sec =0.01mm

—B69—

| 956 x2.5dp
i ‘
TR
!
|18 64 | b -
Vo | L 4-@9.5 x 6dp x @5.5
I - 2-4 pin
¥ 2-@5 x 10dp pin
- 6-M5 x 10dp TAP P.C.D. @80
ZK 100R
(EA#Em1:16)
135
| 450 ‘

RN ‘ @56 x 2.5dp

5ME2 R ~FE Dimensions:

Unit:mm

F5i#E 271 Motor mounting hole
4-M5 x 10dp TAP P.C.D. 870

ZK 100P

| L 4-p95x 6dp x 5.5

Vo - 2-@4 pin

'——— 2-@5 x 10dp pin
- 6-M5 x 10dp TAP P.C.D. 80

(P47 2R L 24,32,40)

135
50
' 15: @56 x 2.5dp
) 5 ', ; .
1 i
Hil 28 8
i 2
o
wn
! P & |
18 Ba) =)
=T 1T T 7| L 4-29.5x6dpx 5.5

| " 2-@4 pin
——— 2-@5 x 10dp pin

' 6-MS5 x 10dp TAP P.C.D, 280

MR R BIEER R

52.35 /
0 10 40 40 f
295 -0.02 /
= % [ o
229 &
I g
H_F 2 g
A g e
o 9 h.*
o P B ]
a I [1T] 5
! g NS 8
‘ g 72.35 \
Nh#het14x27dp \ FEEEME Motor flange @50
163.54
2957002
929
i o@ I
T
i =] ||
LM'("I
it . i i EiErE
T J Motor flange @50
28 ol i |
= 8 8y e 7235| _| ®
! | ™
@ ZRB0 @ N
i
< R Right angle '8
creducer, el : L]
o S Inupt shaft @14
1 ; e X’
91 |
1354 - EEREETL
Motor mounting hole
4-M5 x 10dp TAP
P.C.D. @70
295 Do
229
52.85 FEiEEIE L Motor mounting hole
alE ~4-M5 x 10dp TAP P.C.D. @70
8l 9 I#
o
& 9 Il [
72.35
&
[ [
6047 2 ik ik
o0
«©

P.S: &% Sensor ##&(i#A) OMRON EE-SX672

By [E Motor flange 850

-70-



RISEER]. Model Number Code

/K —130 —

| |

R

10
|

V2

RETEERT g EE R L HiEma HE:4.5kg
Hollow Rotating Table  Specifications Optional Ratio Motor
R: HEfimEEE V1: {@fRO14 PCD70 M4 | T1: #5108 PCDE6.67, M4
oamma | e aonreoms 3 ASIGR N,
SHE200~400W ACTAIRR  SMMEE0EDE HiE
1% 3 Specifications :
EEmBEE ZK130 ZK130R ZK130P
HEHE = a R Bl SR T A&
FEFEENmM 45
EESS 20000HTrs
S FFEEpm 200(#2M)
IR EE 10 20,30 30,40,50
BB Earc-sec <10 <20 <60
T fir#E Earc—min <1 <1 <2
HERF 2= FATEmm <0.02
e FE R Emm <0.015
REER IP40

P.S:EIFEHL: 1 rpm=360°

1° =60'(arc—min) 1'=60"(arc—sec)
EER LB EHERE . BMEEx3.14159 + (360° x 60' x 60") i FHE

EALFEERR poseomemops

88 T e 9 R 0

=0.005mm

-

£ T 5] o0 AR

=0.015mm

EmMREEETE

=0.02mm

& -

: ©
\ «©
| |
i_ 300mm _i
[ | q
; l 2 IR RE300mm
IMEEERENEE REEMEE & F1 8 115kghF
FZB0mm $E60mm AIBZK13040
=1min =10sec <0.01mm

~71-

52 R~ Bl Dimensions:

ZK 130

(BfiEE# e v] B 1TAR S /i)

162

65

<&

65
=

Unit:mm

ZK 130P

o

65

15 @83 x 2.5dp
e 21200 0e
f P40 «
/K ‘ g ] nl3 B
g o | | |
© S A
\ - 1 [] [ a inupt shafte 4x27dp
\ N m—= m‘ 98.95
< o
19 92 \ 4-¢10.5 x 7dp x 86.5 ! & ‘ A
\\—2—521- 12,5 mpin EEM(E Motor flange @50 — | Eﬁ?ﬁﬁag"“’m’ mounting hole
6-M5 x 10dp TAP P.C.D. 9105 ool 3
63.95
ZK 130R o
(BEfAEm1:20) J N
] g
[52]
190.31 2 f"'/“\\
- 21207802 G) (h\ 2l g
240 ! K J ol =
85
15 283 x 2,5dp 9 % 1
w0
09 g ¢¢ [ *V_J s
g
BiEnE
{ o © & Motor flange @50
e @ 2
! A 41
o @ZR60 o /
IR =N e ol i_ﬁﬁ,ﬁﬂ 8 L =)
= Right angle m| T @
\_ = o reduceg, "\‘- ! PL ]
19 92 4-@10.5 x 7dp x @6.5 : l Inupt shaft @14
2-@5 pin gz
\ 2—95x10§p pin 91 T T
6-M5 x 10dp TAP P.C.D. @105 T [
Motor mounting hole
4-M5 x 10dp TAP
P.C.D. @70
P T '
(Bft1T 2R E M E L 30,40,50)
162 0
e - @120 002
e 283 x 2.5dp 63.95
— 'Q’ — e 12 _ 53 53
| 1 o CI
o E | | 3
a 28 2 | el I 1] 2 K
ae2 2 ARV
J | = = iﬁ 2
98.95 8 ale
| = k A
kj ! [ 1 =8 K'/ \&\ Inupt shaft @14
& /ﬂ‘ A wimae 1 [, [ _ EJ__. i
19 92\ \_|\\ 4-0105x7dpxe65 e = | - '
.\\ '3 2-:652;‘1?,g£r;:in B2 E Motor flange 250 — FBIERE 7L Motor mounting hole

'~ 6-M5 x 10dp TAP P.C.D. @105

AR RIRESREEFERT
P.S: [EE4 Sensor #R1&(1#A) OMRON EE-SX672

—4-M5 x 10dp
TAP P.C.D. 870

72~



RISEEE D] . Model Number Code

ZK
|

——200 ——

R

10 — V2

H‘Eﬁ?%ﬁ?ﬁu Mg o i%%ﬁ@ :JEJZE.EI:I: HiEsn & 8115k
Hollow Rotating Table  Specifications Optional Ratio Motor
R: EAMHERE V1: fAIR@19 PCDIO M5 |T1: #Hi@14 PCD98.4, M5
P: ELfER#E v2: {afk@19 PCDI0 M6
EREAR750W ACRIIREIE  SRIMeeEILERE
#1& % Specifications :
EmBE ZK200 ZK200R ZK200P
HEE T =K [ 8 o
BAHEEN.mM 80
EEEw 20000Hrs
St EFEEErpm 200(#& )
IR EE 10 20,30 30,40,50
B K Earc-sec <10 <20 <60
E 45 Earc-min <1 <1 <2
W T ZEF1TEmm <0.02
HEEF =R Emm <0.015
REZR IP40

P.S:EEEf: 1 rpm=360°

1° =60'(arc—-min) 1'=60"(arc—sec)

EFRE S EaRE. BEER x3.14159 + (360° x 60' x 60")L¥pa{E

TELALFSERA womeemmes s

48 T B o0 4

=0.015mm

48 T e 99 R 08

=0.005mm

i)

)

2 ©

B8 T SR R AT

=0.02mm

- ]

b 6

SMEE BB R N

242100mm

= 1min

—73-—

7’ R
H£4%100mm
=10sec

L 300mm |

8

HIEFREZ00mm

HEJ1EE 7115kghF

I8 ZK2005ME
=0.01mm

52 R ~FEl Dimensions:

ZK 200

(PiHE 2 EER] B 1TAHZE BRiE) ’

255

100

=
mu

2190002

~iTe

50

Unit:mm

FSI¥AE] Motor flanges70

1025
6.5
—

18
N
D
.ﬁ“x
e
55

200

82

ﬁ
A8
3
186
65
| 505,

[
\

g 9 A
- \\\« /v 2o T
@ |
\E \ 2 | g‘ 157.5 , l i
~ 1 @ e | /
30 140 4-p17 x 9.5dp x 811 by : ; KL )
2-8 pin ESiZE =7 Motor mounting hole | - BiZEIEFL Motor mounting hole
2-@5 x 10dp pin 4-M6 x 15dp 4-M6 x 15dp
6-M8 x 12dp TAP P.C.D. 170 TAP P.C.D. @105 TAP P.C.D. 290
102.5
18 82 82
|
s N
ZK 200R N §
(3]
0y [:2]
(EfR#ER1:20) A N |4
N1/ ‘K:i/’ g &
k 1/
255 2825 0
100 2190 802 @ ‘% & i
15 @40
™ '«“:—- 1 . rEEEETL
(@ / @ ™ 0| o I‘;flotor mounting hole
©la | | 4-M86 x 15¢p TAP P.C.D. 290
/ F\ Slolwle 90
\\gg} dle s |8 —
8 \\\ : ZR80 f "Jﬁﬁ\ :\ -
2 | =
= ERRERE |5 | KT
‘ A 4| A
\@E /@/ 2 Right angle g %i/é
-\ = Sdicar S Inupt shaft @19
4-g17 x 9. 1
30 140 3 52711305 m:.cQSdpxsa 1 " /_%é&
- 2-85 x in
6-M x 120p TAP P.C.D. 2170 2 Motor flanges70
EiEEEL
Motor mounting hole
4-M6 x 15dp TAP P.C.D. 8105
ZK 200P
4= e A
(PFi1TE BUEHE L 30,40,50)
255
100 FEiEMEl Motor flanges70
Y3 - 019080 _ 1025 ¢
i i 40 18__ 82 82 |65
¥e N 3 i iy
/ﬁ $ ; =
I hd 9
/ f’; m g glg 8 2 | E g W B
\ O 7 8 il T [ g8
. ] \ T/ ‘ 0| ¥
2 \’\\‘ ! % 157.5 - Inupt shaft 219
@
NN = — ™ YL
~ =By © * t |
30 14(I1\ \ \ 4-517 x 9.5dp x &1 2 OfTRMIEHR| 2 2 : .’L .
2-98§m ; FEiZEIE 7L Motor mounting hole | - BiZEFE 7L Motor mounting hole
\_ 2-p5 x 10dp pin © 4-M6 x 15dp —— 4-M86 x 15dp
6-M8 x 12dp TAP P.C.D. 8170 TAP P.C.D. 2105 TAP P.C.D. 90

HAT BN AR REER R
P.S: &2} Sensor 3 1%&(1%#) OMRON EE-SX672

74—



RIgE 2. Model Number Code M2 R ~HEl Dimensions: Unit:mm

ZR PP e [ ) o ¥R

ZK 275
| | | | (Mt iR ER] B 1TAHE KIE)
EEEEERT A b i BIEEE HiEsER BE2:16kg
Hollow Rotating Table  Specifications Optional Ratio Motor 255 %
100 2190-0.02 F5iE O [EMotor flange70
R: EfEERE V1: fAR@19 PCDY0 M5 |T1: #iE@14 PCD98.4, M5 i a5 /7'441”9-5”9”11 - T e e
P: EEBE v2: {AfRD19 PCDI0 M6 “‘*—@aﬁ \@' a75 " _;J
[ T
& RENB750W ACIRER R hB6T % 1 i //f% 8 = o
.8- i% § 5 | g l= =
i i . o k./ . 1 A8l
&3 Specifications : g ggy/é/ | . i
| 157.5 .
[=] o, N '\ T‘L ~ 1 i C) a /
EEmRBISE ZK275 ZK275R ZK275P 0 140 2-a8 pin . I F5i& = FLMotor mounting hole | LEEE?LMmor mounting hole
2-5 x 10dp pin 4-M6 x 15dp ) 4-M6 x 15dp
e S B R El$E5 F il & 6-Mg x 12dp TAP P.C.D. 2170 TAP P.C.D. 3105 TAP P.C.D. 290
BHEEN.mM 80
fSEEA 20000Hrs 1658
. SO0 ZK 275R B 8 e
el ) ) (a3 1:20) = N
AR 10 20,30 30,40,50 . AN
fan g g
E?ﬁﬂ%ﬁam—sec =10 =20 =60 N o . } k_/ M g &
100 X .CD. @ 5 =
T =1 -1 =2 N @&t:z;:.:z;:z;zw S s . 5 o
= AN 7= i '
WedE £ EEITEMmM <0.02 /f\\ —
8 o -BEEERL
FEEEEEEDEMmM =0.015 /Z (} B8 g s B 3(g 1 ﬁ"r&“&?ﬁ’?ﬁﬂ“&'&"ﬁoo. 290
RESH IP40 g “&J ARE: 1675 %
. _@& 6/ . N ZR% 5o
P.S:EBIEESL: 1 rpm=360° 1° =60'(arc—-min) 1'=60"(arc—sec) T ~ . anas | g i N
ap ap o & i i - 30 — 2-25 x 10dp pin e Tadicar A LA
EFFREREEERE: BEEE x3.14159 = (360° x60'x 60" )&FR{E N " . : ; faﬁ}j.‘fﬁf@g" = ')':Jf]’?;"a“—‘ﬂ‘-g
182';25 L e e
| Y (S ] X otor flang
ENLIE BB woneomsmiwops memEn
ZK 275P 4-M6 x 15dp TAP P.C.D. @105
88 T 1 98 47 R B R RA BEREETTE (T ERUEIE L 30,40,50)
=0.005mm =0.015mm =0.02mm
255 2190802 )
N | _ =i » . L 100 ; R — o 102.5 Bi#[E Motor flangea70

-

{
82 82 |65
/

s

./— 18
N é ¥
) Nk L
Y ’ NP

A
- B o Inupt shaft @19
Q@ ﬁ | 0T HiEH o T 8
N s/ |

18

N

| 300mm |

|

N

82

50.5

130
186
200

200

65

s
/|

82

@

Y ~ @ I [ «
% 10\ N\ |\ 2-g8 gn 2 BEEIZEFL Motor mounting hole "‘LE‘L%EE?L Motor mounting hole
J Q e 8 o1 | B e T e T
4 HIEBRE300mm
SMEEEBEMREE N  REEiEE [ 6 /18 $130kgRS WETRERS IR S EEE R
#{Z100mm #42100mm RFFZK2755Me P.S: JE2 Sensor #1&(1£E) OMRON EE-SX672
<1min =<10sec =0.01mm

-75- -76-



23 i EES IRk iR 1
HOLLOW ROTATING TAB

DG

KOEREREER
e E
EialREESRE

HREL
RISt RAHE

EEEES
REENHEE S E£15sec

4% (Lost Motion) “A2min

\\ﬁ&ﬁﬁﬁ%%4ﬂn

FHHITRALR

EREATCHEE GALE) N,

IRSHRESTIRSER / F2 Y i8] %€ i
/ A £ 75 (8] K

SRR !

FERE |

KEEER

E3mh#), + HAER DGO #7
(imigit - Ri) (—#er=da)

77—

RN (G XE

OEFEL~EHHIRIHRHAEH

hEHEHFEE, TERZKEENITEERNGTE. —RIZE
FBTRFRENNTHRITEMESTR, SENNTHEHBEN
MR EREAR, HELEENETHHLE.
MDGRIIETT BT E TG, EUEHEEE, MURTEERE
AFRESIEEIS, AT M IBHIRRT.

O E R R SiE F-E gt SFHRWEIEE 557

ATHHBEXAFRERET, FRAEARFEETRAEERE
# GEMEEREE).

EYPEETHRHESHBEENME TS, TARREXRIEMERR
PTEERIT. $E. SEHRMERESE .

(DG130R HIfEREER. WA ZEH)

O XOEFZFREEFE~HANREESEE
ERfA— RS RS R IR A REHERNES, ZATAORTS
i (RF) wigit. EATRESANEASRESHE, BRER
B A

FERImn [FEEET ' =
DG60 60 28 S :
DG85R 85 33 O
DG130R 130 62 h‘
7 #il : DG130R #i5&
Ay =)
HEEJE
tRER
.(nsem AR ‘
/.f i [E) 45 [ ] BE W £
/ /’
o
/ )
R

ERENRELN EFARHIRERHX

OB EEE~REEEE B x15sec
=44 (Lost Motion ) 2min
RIEHASS X ASEEAENER, BB S8RENEMRERR,
EliaSosreE k. BER—FRNEETEMEES =15sec;
MMAAFEEMMEIZ A 2min, TR THEEESHER.

REEMRHE

*+15sec

@ SRIEE
(DG85R. DG130R)
n¥%Ta

U% I

ﬁﬂi‘i{i?ﬁﬁ: H ]

78~




MEREE IR

ICE AR 5iE W 100W 200-400W 200-400W 750-1KW
AEHE Nm 35 20 20 65
HIES kgm' 2480 x 10 2498 x 10 ° 9472 x10° 93581 x 10
R rpm 200 200 200 200
IELE 1/5 1/5 1/10 1/10
EAEE sec <15 <15 <15 <15
REEMEE sec +10 +5 +5 +5
BFENEE kgf 20 200 250 500
BEFEMUEHE Nm 10 60 60 200
REIEERTE gm +5 +2 30 39
REFEROE mm +0.01 +0.01 +0.01 +0.01
= kg 22 3 5.5 14
o 63
32 31+0.3
34 62 (4)24.5
10 +0.012 SOioz (6)M3xP05x8L
o (2)a5:5"PIN | P C.D.038
'y A
(28557 PINX7L '
= P.C.D.@36 ~
1 wn
=t e co
—_ = - g r
A
ol o Lo !
g § Ny J
i Y

79—

DG-85

755
40 35.540.3
85 (6)M4xP0,7x6L
22.5 (4)26.5 78+0.1 P.C.D.62.5
105 (4)@5:2°° PIN 70£0.2 : (2)@55™ PINx6L
. | | P.C.D.G62.5
et o = o
|
L ] _7_ .i.l
335 : o 5d & -
5.5 | [P ﬁi 8 88 E: Rl &
i e &
414\l 9
B = i =
e T y
B —_— 21O @ =
@ = e = = -
8 5 ] (2)M2.5xP0.45%4L
“___?ﬁi"' -4
; (2)M2.5%P0.45x4L
L]
DG-130 B
77
130
40 370.3 —— (6)M5xP0.8x%8L
22 (4)29 — P.C.D.@104
B 110:0.02
12 2)@5 1 PINx6L
-=| | 5 (2)@5:3""PIN : P.C.D.0104
1
L]
I
} o
o
9 &g = 2 3
335, | Q g 9
55 |
i Il Il B
I
o un
- TZF*_W R
=
(2)M2.5xP0.45x4L y,
gl
5
58 60+0.3 200 (6)MBxP1x10L
28 P.C.D.@155
™ )11 170 (2)@8:8°"PINx8L
15, S /~ PCDD155
/ [
(2)28:7 PINxSL !
P.C.D.@180
= (HH)
8 H
i 2 = g 8
50 9 \ 3
8 a /
— (=] o e
i
| e B o N o 3
5 sttt (2)M2.5xP0.45x%4L -
— (2)M2.5%P0.45x4L 1
J Y
14
90

—80-



R£2FEZHEIF Safety Precautions

RERE

Installation

RERKEEEE

Cautions for storage

FEURREFERN, HURTIEERT.

1 EERBRIBITEITRE .
2EMERNNEMERNISRER, ERNEAFTRAEHERE
8%, NERZFMIsMRREMCRINEIEE. £85HEE).

Whenever temporarily keeping the product, keep the following
directions:

1.Keep in a clean and dry place.

2.Whenever storing outdoors or in a humid place, putina
box so that it does not directly contact rain or external air
and cover with a vinyl sheet(Take a measure to prevent
rust.)

ETREE R EE
IR B AR

- BIE BB AR AR R R R T AT BR AR
- EIEEE . WA EERREE, FEHEER,
HETHANBRREE, BEBSH.

sOR R B RIS ERE (RE). AEEIRERTER.

EOESEEESIRESUkNBER,
FEEZIINETHE. KBHEMNBFTERR, FEEREA
UNGIE 38

BEMEROT-40T,

e BB E R E SME AR, WRRALTBER,
MAMEBEETTIRG EEENLEE F, HABRER,

BITRSHRTEREE

FARERLERCHRE TRESNHBE, BEEATERER,
HIAGETTIR, HESCHERSHEREE T EE, BiREhEmAs,

ETRREEER
BEEAEBAN,

AR ERIBRE M EREE,
BETIIRERE, FYEETIAETIRE.

When the reducer is delivered to you--+--+

When the product delivered, please con rm that you received
the exact same model you have ordered.
Please wipe out the input and output shaft of the reducer
which is covered by anti-corrosive oil.
# Please remove the rubber cap on the input shaft before you
wipe the shafts.
#Lubricant(grease) is already lled in the reducer.
It is available as it is.

Fixation & installation

Avoid use in a place where rain or water drops directly.

In case of use outdoors or in a place where dust and

water drops, consult in advance.

Install at 0°C~40C of surrounding temperature.

In case of use at temperature out of the above-mentioned
range, contact the headquarters and consult on this.

Firmly x with a bolt onto a solid stand without vibration.

Install in consideration of convenience in repair and inspection.

Cautions prior to starting the operation
Reducer can be used soon after arrival, since it has already
been lled out with lubrication.
At initial operation, check the rotating direction of the
output shaft and then gradually apply load.

Cautions during operation

Avoid overload. Ensure that input speed shall not be the
number of revolutions beyond the speci cation.
In the following cases, stop the operation and check the

BB LT following points:
F ERHBERANEER - If temperature sharply increases
- EERRAESAREE - If an abnormal noise appears sharply
« If the number of revolutions becomes unstable sharply
i ™\
HE
- RIEHEWRREIEREN,
KT & BfEEREREEERN.
)AERMEGE,
FEMRBRTAESERNENENZEBELIFT., RESHEWEELNER.
ERERMEIE, FETHEMNBELEERREIESPESFSEMNMELEE,
4AHEEMBIRENSEMNEE,
. 0

81—

Z4%4HH, Mounting procedure to the motor

B RE ST . REEE.
Wipe off anti-rust agent and oil on the motor shaft.

BT B2,

Remove the plug

TSI N\ (E R E R R L, bR, FRRRE
BreRERHH.

Turn the input shaft until the cap screw is seen. Make
sure the cap screw is loosened.

MEAWE, REFEMEFRT,
In case the bushing has been attached, Please fix it to
the reducer as the drawing below.

MEREER N EAFENMY, EREEHNRERER
BLA, #EEREEMEARAG, TESEEEDR
ANEY, EERBENENAEERERAEEE. BEE
HMEEHERR REZREFR (228 1)

“*| Please place reducer vertically on the flat surface so the
motor mounting part faces up. Carefully insert the motor
shaft into the input shaft. (It should be inserted smoothly)
Make sure the motor flange is perfectly fit to the reducer's
flange. Tighten the motor installing bolts to the proper
torque.(See table1)

-

e

EASERFSRBIEEN R EHEER BRI (B2 R 1)
5 Tighten the clamping bolt of the input shaft with torque
wrench to the proper torque.(See table1)

TEBIBHE, RETEM.

Reinstall the plug. The procedure is done.

%1 Tablet 32 Table 2
i RERE i R <t - REHE
R~ Clamping bolt Bolt size Tightening torque
Bolt size Nm kgfm Nm kgfm 5 l:ifg (‘;gfam

M3 1.1 0.11 1.9 0.18 il . 534
M4 25 0.26 43 0.44 Vi 5T bEa
M5 5.1 0.52 8.7 0.89 M6 15 15
M6 8.7 0.89 15 1.5 M8 36 37
M8 21 2.1 36 37 M10 71 72
M10 42 43 71 7.2 M12 125 13
M12 72 7.3 125 13 M16 310 32
M16 134 14 = = M20 603 62

MR - 3BE1200E
# Recommended bolt: Strength 12.9

—82-



